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1. Statement 1: The term civilization was taken from the ancient Greek word ‘Civis’. 

Statement 2: The term ‘Civis’ means village.  

A) Statement 1, 2 is true     B) Statement 1 is true and 2 is false  

C) Statement 1 is false and 2 is true    D) Statement 1, 2 is false 

íu® 1 : åVïöïD ¨[Å ØÄV_ Ãõç¦B þ¼«Âï Ø\Vaß ØÄV_éVª Esü ¨[Ã]oòÍm kÍ>m. 

íu® 2 : “Esü” ¨[Ã>[ ØÃVò^ “þ«V\D” gzD. 

A) íu® 1, 2 Äö     B) íu® 1 Äö, 2 >k® 

C) íu® 1 >k®, 2 Äö    D) íu® 1, 2 >k® 

2. Assertion: Burnt bricks used for construction  

Reason: They are strong, hard, durable, resistant to fire and will not dissolve in water or rain. 

A)Assertion and reason are true, reason is the correct explanation of assertion  

B)Assertion and reason are true, reason is not the correct explanation of assertion  

C)Assertion is true and reason is false  

D)Assertion is false and reason is true  

íu® : ïâ¦¦ºï^ ïâ|k>uz ·â¦ ØÄºïuï^ ÃB[Ã|Ý>©Ãâ¦ª. 

ïV«ðD : °ØªM_, ¶çk kKkVªçk, ï½ª\Vªçk, WçéÝm WuïÂ í½Bçk. Øåò©çÃÂ í¦Ý  

           >VºzÃçk. ¼\KD ¶çk ÀöªV_ ïç«k]_çé. 

A) íu® (\) ïV«ðD Äö; ¼\KD, ïV«ðD íu®ÂïVª ÄöBVª sáÂï\VzD. 

B) íu® (\) ïV«ðD Äö; gªV_, ïV«ðD íu®ÂïVª ÄöBVª sáÂï\_é. 

C) íu® \â|D Äö, ïV«ðD >k®. 

D) íu® >k®, ïV«ðD \â|D Äö. 

3. Where was the naval dockyard has been discovered? 

A) Gujarat    B) Rajasthan   C) Haryana   D) Mesopotamia  

ï©Ã_ ïâ|D \u®D ØÄ©ÃM|D >áD ¨ºz ïõ|¸½Âï©Ãâ¦m? 

A) zÛ«VÝ   B) Ö«VÛü>V[ C) ÇöBVªV  D) Ø\ÄÃ¼¦VtBV 

4. Where the Granary has been found with solid brick foundation with wall? 

A) Gujarat    B) Rajasthan  C) Mohenjo Daro  D) Haryana  

ØÄºïuïáV_ ïâ¦©Ãâ¦ ·kìïçáÂ ØïVõ¦ >VMBÂ ïáÞEBD ¨ºz ïõ|¸½Âï©Ãâ¦m? 

A) zÛ«VÝ   B) Ö«VÛü>V[ C) Ø\VïÞÄ>V¼«V D) ÇöBVªV 

5. The year in which Harappan civilization starts to decline on 

A) BCE 1900   B) C.E. 1900  C) BCE 1990  D) C.E.1990 

Ç«©ÃV åVïöïD ÄöBÝ Ø>V¦ºþB gõ|? 

A) þ.x. 1900   B) þ.¸. 1900  C) þ.x. 1990  D) þ.¸. 1990 

 

EÍmØk¹ åVïöïD  ¼>ì¡ a 1 
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6. Who first visited the Harappa? 

A) Charles Mason     B) Sir John Marshall  

C) Alexander Cunnigham     D) R.E.M. Wheeler  

Ç«©ÃV¡Âz x>[x>o_ kòçï >Í>kì BVì? 

A) ÄVìéü ¼\Ä[     B) Äì ÛV[ \Vì2_ 

C) ¶ØéÂvVõ¦ì ï[MºÇVD   D) R.E.M. Téì 

7. Match the following       a b c d 

a. Shell   - 1. South Rajasthan   A) 4 1 3 2 

b. Lapis Lazuli  - 2. Lothal    B) 3 4 1 2 

c. Carnelian   - 3. Shortughai   C) 4 3 2 1 

d. Steatite   - 4. Nageshwar   D) 2 3 4 1 

ØÃVòÝmï.       a b c d 

a. Äºz  a 1. Ø>uz «VÛü>V[ A) 4 1 3 2 

b. çkùöBD  a 2. ¼éVÝ>_   B) 3 4 1 2 

c. ïVìMöB[  a 3. 2Vì|çï   C) 4 3 2 1 

d. üÏâç¦â  a 4. åV¼ïikì  D) 2 3 4 1 

8. The Harappans potteries have a deep ________ slip and ________ paintings  

A) Black, Red   B) Red, White  C) Green, Black D) Red, Black  

Ç«©ÃV \Âï^ \âÃVõ¦ºï¹_ ¶wïVª ________ kõðD ¯Ä©Ãâ| ________ WÅ {sBºï^ 

yâ¦©Ãâ¦ª. 

A) ïò©A, Ek©A  B) Ek©A, Øk^çá C) ÃßçÄ, ïò©A D) Ek©A, ïò©A 

9. Who found the similarities between the Indus Valley texts and Dravidian Tamil language texts? 

A) Rev. Henry Heroz      B) Asco Parbola  

C) Iravadham Mahadevan     D) All the above 

EÍmØk¹ ¨¿ÝmÂzD, ]«Vs¦ >tµ Ø\VaÂzD Öç¦¼B Îu®ç\ Wé¡kç> ïõ|¸½Ý>kì BVì? 

A) ¶òâ>Íç> ØÇ[¤ ØÇ«Vü   B) ¶ü¼ïV Ãì¼ÃVéV 

C) n«Vk>D \ïV¼>k[    D) ¶çªkòD 

10. Match the following          a b c 

a. Early Harappan period   - 1. BCE 1900 - 1700   A) 3 1 2 

b. Mature Harappan period   - 2. BCE 2600 - 1900   B) 2 3 1 

c. Later Harappan Period   - 3. BCE 3300 - 2600   C) 3 2 1 

          D) 1 3 2 

ØÃVòÝmï.          a b c 

a. Ø>V¦ÂïïVé Ç«©ÃVs[ ïVéD a 1. þ.x. 1900 x>_ 1700 kç« A) 3 1 2 

b. x]ìÍ> ïVé Ç«©ÃVs[ ïVéD a 2. þ.x. 2600 x>_ 1900 kç« B) 2 3 1 

c. ¸Íç>B ïVé Ç«©ÃVs[ ïVéD a 3. þ.x. 3300 x>_ 2600 kç« C) 3 2 1 

          D) 1 3 2 

11. How much area covers Indus Valley civilization in India and Pakistan? 

A) 1 million square Kilometer    B) 1.5 million square Kilometer  

C) 1.3 million square Kilometer    D) 1.5 billion square Kilometer  

EÍm åVïöïD ÖÍ]BVsKD ÃVþü>VMK\Vï Ø\VÝ>\Vï ¨Ëká¡ Ã«©Ãás_ ¶ç\Ím^áª? 

A) 1.0 t_oB[ Ä.þ.*.    B) 1.5 t_oB[ Ä.þ.*. 

C) 1.3 t_oB[ Ä.þ.*.    D) 1.5 ¸_oB[ Ä.þ.*. 
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12. In which region refers to Meluha in cuneiform inscriptions? 

A) Mohenjo Daro   B) Indus  C) Harappa   D) Kalibangan  

þRMÃVìD ¨¿Ýmï¹_ ïVð©Ã|D Ø\KÇV ¨[Å z¤©A ¨Í> Ãz]çBÂ z¤©Ã>VzD? 

A)  Ø\VÇÞÄ>V¼«V B) EÍm   C) Ç«©ÃV   D) ï¹Ãºï[  

13. Alexander burns visited the site Amri related to Harappan culture in the year  

A) 1841   B) 1853  C) 1856  D) 1831 

________a_ ¶Dö ¨[ÐD Ç«©ÃV ÃõÃVâ¼¦V| Ø>V¦ìAç¦B Ö¦Ý]uz ¶ØéÂvVõ¦ì Ãì[ü 

kòçï >Í>Vì? 

A) 1841   B) 1853  C) 1856  D) 1831 

14. Statement 1: Pastoralism is the major occupations of Harappans  

Statement 2: Harappans practiced double cropping system in Agriculture 

A) Statement 1, 2 is true    B) Statement 1 is true and 2 is false  

C) Statement 1 is false and 2 is true    D) Statement 1, 2 is false  

íu® 1 : Ç«©ÃVs_ ¼\FßÄ_ Îò xÂþBÝ Ø>VaéVï ÖòÍ>m. 

íu® 2 : Ç«©ÃV \Âï^ ¼káVõç\ xçÅl_ Ö«âç¦© Ãlö¦_ xçÅçB© ¸[Ãu¤ªì. 

A) íu® 1, 2 Äö     B) íu® 1 Äö, 2 >k® 

C) íu® 1 >k®, 2 Äö    D) íu® 1, 2 >k® 

15. Statement 1: The Dancing Girl statue made up of Iron was found at Mohenjo Daro  

Statement 2: Indus Valley people known the knowledge of use of Iron  

A) Statement 1, 2 is true     B) Statement 1 is true and 2 is false  

C) Statement 1 is false and 2 is true    D) Statement 1, 2 is false  

íu® 1 : ÖòD¸ªV_ gª å¦ª\Vm Eçé ïõ¦¤B©Ãâ¦ Ö¦D Ø\VïÞÄ>V¼«V. 

íu® 2 : EÍmØk¹ \ÂïÓÂz ÖòD¸[ ÃB[ Ãu¤ Ø>ö¥D. 

A) íu® 1, 2 Äö     B) íu® 1 Äö, 2 >k® 

C) íu® 1 >k®, 2 Äö    D) íu® 1, 2 >k® 

16. Statement 1: Copper was the first metal discovered and used by humans. 

Statement 2: Indus people used the green quartz stone called Carnelian to design jewelry. 

A) Statement 1 is true and 2 is false   B) Statement 1 is false and 2 is true  

C) Statement 1, 2 is false     D) Statement 1, 2is true  

íu® 1 : \M>ìïáV_ ïõ|¸½ÂïÃâ¦ \u®D ÃB[Ã|Ý>©Ãâ¦ c¼éVïD ØÄDA. 

íu® 2 : EÍmØk¹ \Âï^ gÃ«ðD ØÄFB ÃßçÄ WÅ \èÂïuïçá© ÃB[Ã|Ý]ªì.   

A) íu® 1 Äö, 2 >k®    B) íu® 1 >k®, 2 Äö  

C) íu® 1, 2 >k®     D) íu® 1, 2 Äö  

17. Match the following       a b c d 

a. Rakigarhi   - 1. Rajasthan    A) 4 3 2 1 

b. Kalibangan   - 2. Haryana   B) 2 1 4 3 

c. Lothal   - 3. Punjab, Pakistan   C) 4 1 2 3 

d. Harappa   - 4. Gujarat    D) 1 3 4 2 

ØÃVòÝmï.             a b c d 

a. «VþïìN  a 1. «VÛü>V[  A)   4     3      2      1 

b. ïVoÃºï[  a 2. ÇöBVªV   B)  2     1 4  3 

c. ¼éVÝ>V_  a 3. ÃÞÄV©, ÃVþü>V[   C)   4  1  2  3 

d. Ç«©ÃV  a 4. zÛ«VÝ     D)   1    3 4 2  
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18. Choose the incorrect pair  

A) The Indus valley civilization was starts to decline from 1900 BCE  

B) The preservation process of dead body in ancient Egypt Mummification  

 C) Harappan was the first known city, so Indus Valley civilization called as Harappan civilization. 

D) There is sign of large boar was mostly seen in Indus valley seals  

>kÅVª ÖçðçBÂ ïVõï? 

A) þ.x (ØÃV.g.x) 1900oòÍm EÍmØk¹ åVïöïD TµßE ØÃÅÝ mkºþBm.   

B) ¨þ©]Bìï^ ÖÅÍ> c¦_ïçá Ã>©Ã|Ý] ÃVmïVÝ> xçÅ \DtBVÂïD gzD.  

 C) Ç«©ÃV >V[ x>o_ ïõ|¸½Âï©Ãâ¦ Ö¦D ¨[Ã>V_ EÍmØk¹ åVïöïD Ç«©ÃV åVïöïD ¨[®  

   ¶çwÂï©Ã|þÅm.     

D) EÍmØk¹ xÝ]ç«ï¹_ ØÃöB Ã[¤l[ còkD Ã«kéVïÂ ïVð©Ã|þÅm. 

19. Statement 1: Rohri chert refers to the chert raw material collected from Rohri in Pakistan. 

Statement 2: Harappans used both stone and bronze tools. 

A) Statement 1, 2 is true     

B) Statement 1 is false and 2 is true  

C) Statement 1 is true and 2 is false     

D) Statement 1, 2 is false  

íu® 1 : ¼«VöØÄâ ¨[Ãçk ÃVþü>VM_ c^á ¼«Vãö ¨[Å Ãz]l_ ÖòÍm ØÃuÅ©Ãâ¦ ØÄìâ 

          Jé©ØÃVò^ïçáÂ z¤ÂþÅm. 

íu® 2 : Ç«©ÃV \Âï^ ï_ \u®D ØkõïéÝ>V_ gª g¥>ºïçá© ÃB[Ã|Ý]ªì. 

A) íu® 1, 2 Äö     B) íu® 1 >k®, 2 Äö   

C) íu® 1Äö, 2 >k®     D) íu® 1, 2 >k®  

20. Match the following          a b c d 

a. Mesopotamian civilization period   - 1. BCE 1700 - 1122  A) 4 3 2 1 

b. Indus Valley civilization period  - 2. BCE 3100 - 1100  B) 2 3 4 1 

c. Egyptian civilization period  - 3. BCE 3300 - 1900  C) 3 1 4 2 

d. Chinese civilization period   - 4. BCE 3500 - 2000  D) 2 4 1 3 

ØÃVòÝmï.          a b c d 

a. Ø\ÄÃ¼¦VtBV åVïöïÝ][ ïVéD a 1. ØÃV.g.x. 1700 a 1122 A) 4 3 2 1 

b. EÍmØk¹ åVïöïÝ][ ïVéD  a 2. ØÃV.g.x. 3100 a 1100 B) 2 3 4 1 

c. ¨þ©m åVïöïÝ][ ïVéD  a 3. ØÃV.g.x. 3300 a 1900 C) 3 1 4 2 

d. æª åVïöïÝ][ ïVéD   a 4. ØÃV.g.x. 3500 a 2000 D) 2 4 1 3 

21. Choose the incorrect one in the following  

A) The site of Harappa was first visited by Charles Mason in 1826 CE 

B) Alexander burns visited the site Amri related to Harappan culture in the year 1831 

C) The site of Harappa was destroyed for laying the railway line from Lahore to Multan 

D) R.E.M. Wheeler excavated the Harappa in the year 1950s 

>kÅVª ÖçðçBÂ ïVõï. 

A) Ç«©ÃV¡Âz x>[x>o_ þ.¸ 1826_ kòçï >Í>kì ÄVìéü ¼\2[   

B) 1831_ “¶Dö” ¨[ÐD Ç«©ÃV ÃõÃVâ¼¦V| Ø>V¦ìAç¦B Ö¦Ý]uz ¶ØéÂÄVõ¦ì Ãì[ü kòçï 

   >Í>Vì.   

C) éVíöoòÍm x_>VÐÂz Ö«l_ ÃVç> ¶ç\©Ã>uïVï Ç«©ÃV ¶aÂï©Ãâ¦m.  

D) 1950 ï¹_ gì.Ö.¨D. Téì Ç«©ÃVs_ ¶ïwVF¡ å¦Ý]ªVì.  
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22. ________ was an important source of subsistence for the Harappans 

A) Agriculture   B) Weaving   C) Crafts   D) Ornaments production  

Ç«©ÃV \Âï^ WçéBVï kVµk>uz xÂþB g>V«\Vï sáºzkm? 

A) ¼káVõç\     B) ØåÄ¡Ý Ø>Va_   

C) çïsçªÝ Ø>Va_ï^     D) ¶èïé[ï^ >BVö©A  

23. Statement 1: Mehrgarh is a Neolithic site 

Statement 2: Mehrgarh is located near the Bolan Basin of Balochistan in Pakistan. 

A) Statement 1 is true and 2 is false    B) Statement 1, 2 is true  

C) Statement 1, 2 is false     D) Statement 1 is false and 2is true 

íu® 1 : Ø\Çìïì A]BïuïVé \Âï^ kVµÍ> {ì Ö¦D gzD. 

íu® 2 : Ø\Çìïì ÃVþü>V[ åVâ½_ ÃKEü>V[ \VWéÝ]_ ¼ÃVé[ gu®©Ã^áÝ>VÂþ_ 

          ¶ç\Ím^ám.  

A) íu® 1 Äö, 2 >k® B) íu® 1, 2 Äö C) íu® 1, 2 >k® D) íu® 1 >k®, 2Äö  

24. Match the following         a b c d 

a. Mohenjo Daro   - 1. upland area    A) 4 3 2 1 

b. Bronze   - 2. Red bead stone    B) 1 2 3 4 

c. Fort    - 3. Alloy     C) 4 3 1 2 

d. Carnelian    - 4. Mound of dead    D) 2 3 1 4 

ØÃVòÝmï.               a b c d 

a. Ø\VïÞÄ>V¼«V  a 1. ¼\¦Vª Ãz]   A)   4     3      2      1 

b. ØkõïéD   a 2. Ek©A \èÂï_    B)  1 2 3 4 

c. ¼ïVâç¦   a 3. c¼éVïÂ ïéçk    C)   4  3 1  2 

d. ïVìMoB[  a 4. ÖÅÍ¼>Vì ¼\|    D)   2 3 1 4 

25. Pick out the incorrect pair  

A) ASI - John Marshall    B) Fort - Granary 

C) Harappan civilization - Bronze age  D) Ancient civilization - Egyptian civilization 

>kÅVª ÖçðçBÝ ¼>ìÍØ>|? 

A) ASI  a ÛV[ \Vì2_    B) ¼ïVâç¦ a >VMBÂïáÞEBD   

C) Ç«©ÃV åVïöïD a ØkõïéÂ ïVéD   D) tï©Ãwç\BVª åVïöïD a ¨þ©]B åVïöïD  

26. What is the correct chronological order of four civilizations of Mesopotamia  

A) Sumerians - Assyrians - Akkadians - Babylonians. 

B) Babylonians - Sumerians - Assyrians - Akkadians. 

C) Sumerians - Akkadians - Babylonians - Assyrians. 

D) Babylonians - Assyrians - Akkadians - Sumerians. 

¸[kòkªku®^ Ø\ÄÃ¼¦VtBVçkß ¼ÄìÍ> åV[z åVïöïºï¹[ ÄöBVª ïVéköçÄ ¨m? 

A) ·¼\öBìï^ a ¶LöBìï^ a ¶ÂïV½Bìï^ a ÃV¸¼éVMBìï^.    

B) ÃV¸¼éVMBìï^ a ·¼\öBìï^ a ¶LöBìï^ a ¶ÂïV½Bìï^.  

C) ·¼\öBìï^ a ¶ÂïV½Bìï^ a ÃV¸¼éVMBìï^ a ¶LöBìï^. 

D) ÃV¸¼éVMBìï^ a ¶LöBìï^ a ¶ÂïV½Bìï^ a ·¼\öBìï^. 

27. In which place shows evidence of farming and herding done by man in very early times? 

A) Mohenjo Daro   B) Mehrgarh  C) Harappa   D) Rakigarhi 

\M>ìï^ ¼káVõç\lKD ïV_åç¦ káì©¸KD ~|Ãâ¦>uïVª ÄV[® þç¦Ým^á Ö¦D? 

A) Ø\VïÞÄ>V¼«V  B) Ø\Çìïì   C) Ç«©ÃV   D) «Vþïìþ  
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1. ________ established a full-fledged printing press in 1709, at Tranquebar.  

A) Caldwell    B) F.W. Ellis   C) Ziegenbalg D) Meenakshisundaram 

1709a_ >«ºïDÃV½l_ ________ Îò x¿ç\BVª ¶ßÄïÝç> W®sªVì. 

A) ïV_|Øk_  B) F.W. ¨_oü C) æï[ÃV_z D) *ªVâE ·Í>«ªVì 

2. Consider the following statements  

1. Suryanarayana Sastri was renamed as Parithimar Kalaignar 

2.Abraham Pandithar gave importance to Tamil Music  

3. Muthulakshmi Ammaiyar to become the first woman legislator in India 

A) 1, 2, 3 is true      B) 1, 2 is true and 3 is false  

C) 2, 3 is true and 1 is false     D) 1, 2, 3 is false  

ÿµÂïVbD íu®ïçá g«VFï. 

1. óöBåV«VBð ÄVü]ö ¨ÐD ØÃBì Ãö]\VuïçéQì ¨ª \VuÅD ØÃuÅm. 

2. g¸«ïVD Ãõ½>ì >tµ ÖçÄÂz xÂþBÝmkD ØïV|Ý>Vì. 

3. ÖÍ]BVs[ x>_ ØÃõ Äâ¦\[Å c®©¸ªì xÝméâ·t ¶Dç\BVì gkVì. 

A) 1, 2, 3 Äö   B) 1, 2 Äö; 3 >k® C) 2, 3 Äö; 1 >k® D) 1, 2, 3 >k® 

3. 1.Thirukkural was one of the earliest Tamil literary texts to be published in 1812.  

 2. Maraimalai Adigal collected and edited different palm leaf manuscripts of the Tamil grammars and  

          literature.  

 3. Robert Caldwell established the close affinity between the Dravidian languages in contrast with Sanskrit   

           and also established the antiquity of Tamil.  

4. Thiru. Vi. Kalyanasundaram was an early pioneer in Trade union movement. 

A) 1, 2 is true    B) 1, 3 is true   C) 4 only true   D) 2, 3 is true  

1. tï x[ª>Vï¼k Øk¹l¦©Ãâ¦ >tµ ÖéÂþB ±_ï¹_ Î[ÅVª ]òÂzÅ^ 1812a_  

   Øk¹l¦©Ãâ¦m. 

 2. Ãçª¼BVçéï¹_ ¨¿>©ØÃuÅ Ã_¼k® >tµ ÖéÂïð ÖéÂþB çïØB¿Ým© ¸«]ïçá 

   \çÅ\çéB½ï^ ¼ÄïöÝmÝ Ø>VzÝ>Vì. 

 3. Ö«VÃìâ ïV_|Øk_ ]«Vs¦ Ø\VaïÓÂzD Ä\üþò>Ý]uzD Öç¦l_ Ö_éV> Î©Aç\ ]«Vs¦  

      Ø\VaïÓÂþç¦¼B ØåòÂï\Vï Wé¡kç> WÔ¸Ý>Vì. >ta[ Ø>V[ç\çB¥D WÔ¸Ý>Vì. 

 4. ]ò.s.ï. Ø>Va_ Äºï ÖBÂïÝ][ Ø>V¦ÂïÂïVé x[ªV½BVï ÖòÍ>Vì. 

A) 1, 2 Äö   B) 1, 3 Äö  C) 4 \â|D Äö D) 2, 3 Äö 

4. Who founded the Namdhari movement?  

A) Baba Dayal das   B) Baba Ramsingh  C) Guru Nanak  D) Jyothiba Phule  

åVD>Vö ÖBÂïÝç> còkVÂþBkì BVì? 

A) ÃVÃV >BV^ >Vü  B) ÃVÃV «VDEº C) zòåVªÂ  D) ¼ÛV]ÃV ¯¼é 

5. In which year did Iyothee Thaasar started a weekly journal, Oru Paisa Tamilan? 

A) 1905   B) 1906  C) 1907  D) 1904 

¶¼BVÝ]>VÄ© Ãõ½>ì Îò çÃÄV >tw[ ¨[Å ØÃBö_ Îò kV«VÍ]« ÃÝ]öÂçïçB Ø>V¦ºþB 

gõ| ¨m? 

A) 1905   B) 1906  C) 1907  D) 1904 

ÄJï \u®D Ä\B æì]òÝ> ÖBÂïºï^ \u®D >tµåVâ½_  

ÄJï \VuÅºï^ 
¼>ì¡ a 10 



 

 
 

TAF BOOK9s        94                                       Ãz] I - k«éV® 

6. Assertion: The Justice Party continued to remain in government from 1920-1937 in Madras Presidency. 

Reason: During this period, the Congress Party boycotted the Madras Legislature for Dyarchy. 

A) Assertion and reason are true   B) Assertion and reason are false  

C) Assertion is true and reason is false   D) Assertion is false and reason is true  

íu® : ØÄ[çª \VïVðÝ]_ 1920 x>_ 1937 kç« À]ÂïâE Ø>V¦ìÍm gâEl_ ÖòÍ>m. 

ïV«ðD : ÖÂïVéïâ¦Ý]_ Ö«âç¦BVâEÂz ¨]«Vï ïVºþ«ü ïâE Äâ¦\[ÅÝç>© AÅÂïèÝ>m. 

A) íu® (\) ïV«ðD Äö.    B) íu® (\) ïV«ðD >k®. 

C) íu® \â|D Äö, ïV«ðD >k®.   D) íu® >k®, ïV«ðD \â|D Äö. 

7. Match the following         a b c d 

a. Dravidian Home  - 1. Maraimalai Adigal  A) 4 3 1 2 

b. Thozhilalan   - 2. Rettaimalai Srinivasan   B) 3 4 1 2 

c. Tani Tamil Iyakkam - 3. Singaravelar    C) 1 2 4 3 

d. Jeeviya Saritha Surukkam - 4. Natesanar    D) 2 3 4 1 

ØÃVòÝmï.         a b c d 

a. ]«Vs¦ì Ö_éD  a 1. \çÅ\çéB½ï^   A) 4 3 1 2 

b. Ø>VaéVáì   a 2. Ö«âç¦\çé æMkVÄ[  B) 3 4 1 2 

c. >MÝ>tµ ÖBÂïD a 3. EºïV«¼kéì   C) 1 2 4 3 

d. ýsB Äö> ·òÂïD a 4. å¼¦ÄªVì    D) 2 3 4 1 

8. Which of the following is correct?  

 1. Ramakrishna Mission was actively involved in social causes such as education, health care and relief in  

           times of calamities.  

2. Ramakrishna emphasized spiritual union with God through blissful practices. 

3. Ramakrishnan founded the Ramakrishna Mission  

4. Ramakrishnan opposed the Partition of Bengal  

A) 1 only true    B) 1, 2 is true   C) 3 only true   D) 4 is true  

ÿµÂïVõÃªku®^ ÄöBVªm ¨m? 

 1. «V\þòiðV t2[ ï_s, c¦_ åéD, ¼Ãö¦ìï¹[¼ÃVm WkV«ð© Ãè ØÄF>_ ¼ÃV[Å ÄJï©  

      Ãèï¹_ ØÄBÙÂïÝm¦[ ~|Ãâ¦m. 

 2. ¼Ãö[ÃWçé ¨FmD ÃwÂïºï¹[ JéD g[\ Z]BVï ÖçÅk¼ªV| Öçðkç> «V\þòiðªì  

      ko¥®Ý]ªVì. 

 3. «V\þòið[ «V\þòiðt2çª °uÃ|Ý]ªVì. 

 4. «V\þòið[ kºï©¸ösçªçB ¨]ìÝ>Vì. 

A) 1 \â|D Äö  B) 1, 2 \â|D Äö C) 3 \â|D Äö D) 4 \â|D Äö 

9. Which of the following statement is incorrect? 

1. Samarasa Vedha Sanmarga Sangam was established by Ramalinga Adigal  

2. Poona Sarvajanik Sabha was founded by Mahadev Govind Ranade  

3. Sathya Shodak Samaj was established by Jyothi Rao Phule  

4. Swami Dayananda Saraswati wrote the work Gulamgiri. 

A) 1 only false   B) 2 only false  C) 3 only false  D) 4 only false  

ÿµÂïVbD íu®ï¹_ >kÅVªm ¨m? 

1. Ö«V\oºï ¶½ï^ Ä\«Ä ¼k> Ä[\VìÂïÝç> W®sªVì. 

2. A¼ª ÄìkÛMÂ ÄÃVçk W®sBkì \ïV¼>Ë ¼ïVsÍ> «Vª¼¦. 

3. ÄÝB¼ÄV>Â Ä\VÛÝç>Ý Ø>V¦ºþBkì ¼ÛV]ÃV ¯¼é gkVì. 

4. zéVDþö ±çé ¨¿]Bkì ·kVt >BVªÍ> Ä«ük]. 

A) 1 \â|D >k®  B) 2 \â|D >k® C) 3 \â|D >k® D) 4 \â|D >k® 
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10. Assertion: Jyothiba Phule opened homes for destitute and widows  

Reason: Jyothiba Phule opposed the Child Marriage. Supported the widow remarriage  

A) Assertion and reason are false   B) Assertion and reason are true  

C) Assertion is true and reason is false   D) Assertion is false and reason is true  

íu® : ¼ÛV]ÃV ¯¼é g>«ku¼ÅVòÂïVª s|]ïçá¥D, s>çkïÓÂïVª s|]ïçá¥D ]ÅÍ>Vì. 

ïV«ðD : ¼ÛV]ÃV ¯¼é zwÍç>Ý ]ò\ðÝç> ¨]ìÝ>Vì. s>çk \®\ðÝç> g>öÝ>Vì. 

A) íu® (\) ïV«ðD >k®    B) íu® (\) ïV«ðD Äö 

C) íu® \â|D Äö, ïV«ðD >k®.   D) íu® >k®, ïV«ðD \â|D Äö. 

11. Which of the following statements is true?  

1. Ramakrishna Mission was founded by Swami Vivekananda  

2. Singh Sabha was a forerunner of Akali Movement 

3. Sri Narayana and Ayyankali brought about dramatic changes in the caste construction of Kerala 

4. Oru Paisa Tamilan Journal was started by Iyothee Thaasar  

A) All are true   B) 1, 2, 3 is true  C) 1, 3, 4 is true  D) 2, 4 is true  

ÿµÂïVbD íu®ï¹_ ÄöBVªm ¨m? 

1. «V\þòið t2[ ·kVt s¼kïVªÍ>«V_ W®k©Ãâ¦m. 

2. EºÄÃV ¶ïVo ÖBÂïÝ][ x[¼ªV½BVzD. 

 3. p åV«VBð zò \u®D ¶FB[ïV¹ ¼ï«áVs[ ÄV]BÂ ïâ|\VªÝ]_ sBÝ>z \VuÅºïçá 

   ØïVõ| kÍ>m. 

 4. Îò çÃÄV >tw[ ÃÝ]öÂçïçBÝ mkÂþBkì ¶¼BVÝ]>VÄì gkVì. 

A) ¶çªÝmD Äö  B) 1, 2, 3 \â|D Äö C) 1, 3, 4 \â|D Äö D) 2, 4 \â|D Äö 

12. Which of the following Statement is correct?  

1. Raja Rammohan Roy preached monotheism  

2. He supported Idolatry  

3. He published pamphlets against it denouncing social evils. 

4. Raja Rammohan Roy was supported by Lord William Bentick  

A) 1 only true    B) 1, 2 is true   C) 1, 2, 3 is true  D) 1, 3, 4 is true  

ÿµÂïVõÃªku®^ ÄöBVªm ¨m? 

1. «VÛV «VD¼\Vï[ «VF Îò ï¦¡^ ¼ïVâÃVâç¦ ¼ÃV]Ý>Vì. 

2. ¶kì còk kaÃVâç¦ g>öÝ>Vì. 

3. ÄJïÝ yç\ïçáÂ ïõ¦ªD ØÄFkç> ¨]ìÝm ¶kì Eu¼Å|ïçá Øk¹lâ¦Vì. 

4. «VÛV «VD¼\Vï[ «VF ïkìªì s_oBD ØÃõ½ºïV_ g>öÂï©Ãâ¦Vì. 

A) 1 \â|D Äö  B) 1, 2 \â|D Äö C) 1, 2, 3 \â|D Äö D) 1, 3, 4 \â|D Äö 

13. How many pairs are correctly matched?  

1. Sakiya Buddhist Society - 1898   2. Dravidar Kazhagam - 1882 

3. Dravida Pandiyan Magazine - 1885  4. Dravida Mahajana Sabha - 1892 

A) 1 Pair    B) 2 Pairs   C) 3 Pairs   D) 4 Pairs  

ÿµÂïõ¦çkï¹_ ¨Ý>çª Öçð ÄöBVï ØÃVòÍ]¥^ám? 

1. ÄVÂþB ØÃáÝ> ÄºïD a 1898   2. ]«Vs¦ ïwïD a 1882 

3. ]«Vs¦ ÃVõ½B[ Ö>µ a 1885   4. ]«Vs¦ \ïVÛª ÄçÃ a 1892 

A) 1 Öçð   B) 2 Öçðï^ C) 3 Öçðï^ D) 4 Öçðï^ 
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14. Which of the following Statement is incorrect?  

 A) The Theosophical Society was founded by Madame H.P. Blavatsky and Colonel H.S Olcott at USA  

           in the year 1986 

 B) Theosophical Society stimulated a study of the Hindu classics, especially the Upanishads and the   

           Bhagavad Gita 

C) The Theosophical Society also played an important role in the revival of Buddhism in India 

 D) In India the Theosophical movement became further popular with the election of Annie Besant as its   

           president after the death of Olcott 

ÿµÂïõ¦ íu®ï¹_ >kÅVªm ¨m? 

 A) ¸«D\QVª ÄçÃ H.P. ¸áVkVâüþ \u®D ïìª_ H.S. g_ïVâ gþ¼BV«V_, ¸«D\QVª ÄçÃ  

       1986a_ ¶Ø\öÂïVs_ W®k©Ãâ¦m. 

 B) ¸«D\QVª ÄçÃ ÖÍm ØÄËsB_ ±_ïçá, z¤©ÃVï cÃW¦>ºï^, ÃïkÝ ÿç> gþBkuçÅ  

       Ã½©Ã>uz cuÄVïJâ½Bm. 

 C) ÖÍ]BVs_ ØÃáÝ>D AÝmlì ØÃ®k]_ ¸«D\QVª ÄçÃ xÂþB ÃºïVu¤Bm. 

 D) g_ïVâ½[ \çÅsuz ¸[ªì ¸«D\QVª ÄçÃl[ >çék«Vï ¶[M ØÃÄ[â 

       ¼>ìÍØ>|Âï©Ãâ¦ç>Ý Ø>V¦ìÍm, ¸«D\QVª ÄçÃ ¼\KD ØÄ_kVÂz ØÃuÅm. 

15. Match the following  

a. Ayyavali     - 1. Widow remarriage reform act  

b. Thiruvarutpa    - 2. Nirankari movement  

c. Baba Dayal Das    - 3. Adhi Brahmo Samaj  

d. Ishwar Chandra Vidhyasagar - 4. Vaikunda Swamigal  

e. Debendranath    - 5. Jeevakarunya Songs  

ØÃVòÝmï. 

a. ¶FBVka    a 1. s>çk \®\ð æì]òÝ>ß Äâ¦D 

b. ]òkòâÃV    a 2. W«ºïö ÖBÂïD 

c. ÃVÃV >BV^ >Vü   a 3. g] ¸«D\Ä\VÛD 

d. ~ük« ÄÍ]« sÝBVÄVïì  a 4. çkzõ¦ ·kVtï^ 

e. ¼>¼kÍ]«åVÝ >Víì  a 5. ýkïVòõB© ÃV¦_ï^ 

 a b c d e 

A) 4 5 2 1 3 

B) 1 5 4 3 2 

C) 2 3 1 5 4 

D) 5 4 3 2 1 

16. Where did Jyothiba Phule opened the first school for “untouchables” in 1852?  

A) Poona    B) Nagpur   C) Aruvipuram  D) Datchaneswaram  

¼ÛV]ÃV ¯¼é Î|Âï©Ãâ¼¦VòÂïVª x>_ Ã^¹çB 1852aD gõ| ¨ºz ]ÅÍ>Vì? 

A) A¼ª   B) åVÂ¯ì  C) ¶òsA«D  D) >âE¼ð·k«D 

17. Who is considered the father of Tamil linguistic purism?  

A) Parithimar Kalaignar  B) GU Pope   C) Thiru. Vi. Ka  D) Maraimalai Adigal  

>tµ Ø\ValB_ #Fç\kV>Ý][ >Íç> ¨ª ¶çwÂï©Ã|Ãkì BVì? 

A) Ãö]\VuïçéQì  B) ÷.¥. ¼ÃV©  C) ]ò.s.ï.  D) \çÅ\çéB½ï^ 
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18. 1. Prarthana Samaj was established by Dr. Aatmaram Pandurang  

2. This samaj promoted equality dining and inter-caste marriages in which all castes participated. 

3. Jyothiba Phule worked from Men upliftment  

4. Prathana Samaj was originated at Punjab  

Which of the following statement is correct?  

A) 1 only true    B) 2 only true  C) 1, 2 is true   D) 3, 4 is true  

1. ¸«VìÝ>çª Ä\VÛD ¦VÂ¦ì gÝ\«VD ÃVõ|«ºïV_ W®k©ØÃuÅm. 

 2. ÖÍ> Ä\VÛD ¶çªÝmß ÄV]lªòD Ãº¼ïuzD ÄDÃÍ]ïçá¥D ÄV]Âïé©AÝ ]ò\ðºïçá¥D  

   »ÂzsÝ>m. 

 3. ¼ÛV]ÃV ¯¼é gõï¹[ ¼\DÃVâ½uïVï© ÃèBVu¤ªVì. 

 4. ¸«VìÝ>çª Ä\VÛD ÃÞÄVçÃ© ¸Å©¸¦\VïÂ ØïVõ¦m. 

 ¼\uïVõÃªku®^ ÄöBVªm ¨m? 

A) 1 \â|D Äö  B) 2 \â|D Äö C) 1, 2 \â|D Äö D) 3, 4 \â|D Äö 

19. 1. Ayyankali was born in 1863 at Venganoor in Thiruvananthapuram 

2. Ayyankali established the organization Sathu Jana Paripalana Sangam in the year 1906 

3. In Aligarh city, Mohammedan Anglo-Oriental college founded by Sir Syed Ahmed Khan in 1875 

Consider the above statements  

A) 1, 2 is true and 3 is false     B) 1, 3 is true and 2 is false  

C) 2, 3 is true and 1 is false     D) 1, 2, 3 is false  

1. ¶FB[ïV¹ 1863a_ ]òkªÍ>A«Ý]K^á Økºïûö_ ¸ÅÍ>Vì. 

2. ¶FB[ïV¹ 1906a_ ÄVm Ûª ÃöÃVéª ÄºïD ¨[ÐD ¶ç\©çÃ W®sªVì. 

 3. Äì çÄBm ¶ï\m ïV[ 1875aD gõ| ¶oïVì åïö_ ¶oïVì xï\]B gºþ¼éV {öB[¦_ 

  ï_ÙöçB W®sªVì. 

 ¼\uïVbD íu®ïçá g«VFï. 

A) 1, 2 Äö; 3 >k®  B) 1, 3 Äö; 2 >k® C) 2, 3 Äö; 1 >k® D) 1, 2, 3 >k® 

20. Match the following  

a. Gulamgiri    - 1. Brahmo Samaj of India  

b. Debendranath Tagore  - 2. Slavery  

c. Keshab Chandra Sen  - 3. Sadharan Brahmo Samaj  

d. Thathuva Bothini  - 4. Saidai Kasi Viswanatha Mudaliar  

ØÃVòÝmï.           a b c d 

a. zéVDþö   a 1. ÖÍ]B ¸«D\ Ä\VÛD    A) 2 3 1 4 

b. ¼>¼kÍ]«åVÝ >Víì a 2. ¶½ç\Ý>ªD     B) 1 3 4 2 

c. ¼ïÄË ÄÍ]« ØÄ[  a 3. ÄV>V«ð ¸«D\ Ä\VÛD    C) 3 4 1 2 

d. >Ýmk ¼ÃV]M  a 4. çÄç> ïVE sükåV> x>oBVì  D) 4 2 3 1 

21. When did C. Natesanar founded a hostel, the Dravidian Home, at Triplicane (Madras)?  

A) July, 1916       B) June, 1916    

C) March, 1916      D) April, 1916  

C. å¼¦ÄªVì ]òk_oÂ¼ïèl_ ]«Vs¦ì Ö_éD ¨[Å ØÃBö_ Îò >ºzD s|]çB W®sB 

gõ| ¨m? 

A) Éçé, 1916     B) É[, 1916   

C) \Vìß, 1916      D) °©«_, 1916 
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1. Which of the following the Statement is true? 

1. The line of latitude which is known as the Great Circle is equator. 

2. The imaginary lines drawn horizontally on Earth from the West to East are called Parallels of latitude. 

3. The 90° lines of latitude on the Earth are called Poles. 

4. The Prime Meridian is also called Greenwich meridian. 

A) All are true      B) 1 and 2 are true   

C) 1 and 3 are true     D) 2 and 4 are true  

ÿµÂïVbD íu®ï¹_ ÄöBVªm ¨m? 

1. ØÃòkâ¦D ¨ª ¶çwÂï©Ã|D ¶ßÄÂ¼ïV| Wéå|Â¼ïV|. 

2. Asl[ *m þwÂz ¼\uïVï þç¦\â¦\Vï kç«B©Ãâ|^á ¼ïV|ï^ ¶âÄÂ¼ïV|. 

3. AslB_ 90° ¶âÄºï^ mòkºï^ ¨ª ¶çwÂï©Ã|þ[Åª. 

4. x>[ç\ yòÂïÂ¼ïV| þö[Tß yìÂï¼ïV| ¨ª ¶çwÂï©Ã|þ[Åª. 

A) ¶çªÝmD Äö B) 1 (\) 2 Äö  C) 1 (\) 3 Äö  D) 2 (\) 4 Äö 

2. The shape of the Earth is ________. 

A) Square    B) Rectangle   C) Geoid   D) Circle 

Asl[ k½kD? 

A) Äm«D   B) ØÄËkïD  C) ÷BVF|  D) kâ¦D 

3. The North Pole is  

A) 90° N latitude   B) 90° S latitude  C) 90° W Longitude  D) 90° E longitude 

k¦mòkD ¨[Ãm? 

A) 90° k¦Âz ¶âÄÂ¼ïV|   B) 90° Ø>uz ¶âÄÂ¼ïV| 

C) 90° ¼\uz yìÂïÂ¼ïV|   D) 90° þwÂz yìÂïÂ¼ïV| 

4. The area found between 0° and 180° E lines of longitude is called  

A) Southern Hemisphere     B) Western Hemisphere  

C) Northern Hemisphere     D) Eastern Hemisphere 

0° x>_ 180° þwÂz yìÂïÂ¼ïV| kç« ïVð©Ã|D As© Ãz] ÖËkV® ¶çwÂï©Ã|þÅm. 

A) Ø>uz ¶ç«Â¼ïVáD    B) ¼\uz ¶ç«Â¼ïVáD 

C) k¦Âz ¶ç«Â¼ïVáD   D) þwÂz ¶ç«Â¼ïVáD 

5. The 23½° N line of latitude is called ________ 

A) Tropic of Capricorn     B) Tropic of Cancer   

C) Arctic Circle      D) Antarctic Circle 

23½° k¦Âz ¶âÄÂ¼ïV| ¨ËkV® ¶çwÂï©Ã|þÅm? 

A) \ï«¼«çï     B) ï¦ï¼«çï   

C) gì½Â kâ¦D     D) ¶õ¦Vì½Â kâ¦D 

ÖÍ]B ¶ç\s¦D a ÖBuçï ¶ç\¡ï^ ¼>ì¡ a 17 
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6. Knife is made up of ________.  

A) Nickel and ferrous     B) Silica and Aluminum  

C) Silica and magnesium     D) Iron and magnesium 

çåà© ________ g_ còkVÂï©Ãâ¦m. 

A) WÂï_ (\) àØÃì«ü    B) EoÂïV \u®D ¶KtMBD 

C) EoÂïV \u®D Ø\ÂÌEBD   D) ÖòDA \u®D Ø\ÂÌEBD 

7. A day has ________. 

A) 1240 minutes   B) 1340 minutes  C) 1440 minutes  D) 1140 minutes 

Îò åVÓÂz ¨Ý>çª Wt¦ºï^? 

A) 1240 Wt¦ºï^ B) 1340 Wt¦ºï^ C) 1440 Wt¦ºï^ D) 1140 Wt¦ºï^ 

8. Which of the following lines of longitude is considered for the Indian Standard Time?  

A) 82½° E   B) 82½° W   C) 81½° E   D) 81½° W 

ÿµÂïVbD yìÂïÂ¼ïV|ï¹_ ÖÍ]B ]â¦ ¼å« yìÂïÂ¼ïV¦Vï c^ám ¨m? 

A) 82½° þwÂz  B) 82½° ¼\uz C) 81½° þwÂz D) 81½° ¼\uz 

9. Match the following        a b c d 

a. 0° line of latitude  - 1. Pole     A) 2 4 1 3 

b. 0° line of longitude  - 2. International Date Line   B) 3 2 1 4 

c. 180° line of longitude - 3. Greenwich    C) 4 3 2 1 

d. 90° line of latitude - 4. Equator    D) 3 4 1 2 

ØÃVòÝmï.        a b c d 

a. 0° ¶âÄÂ¼ïV|  a 1. mòkD    A) 2 4 1 3 

b. 0° yìÂïÂ¼ïV| a 2. Ã[ªVâ| ¼>]Â¼ïV|  B) 3 2 1 4 

c. 180° yìÂïÂ¼ïV| a 3. þZ[sß    C) 4 3 2 1 

d. 90° ¶âÄÂ¼ïV| a 4. Wéå|Â¼ïV|   D) 3 4 1 2 

10. 1. The Earth is spherical in shape.  

2. The shape of the Earth is called a geoid. 

3. The Earth is flat. 

Look at the options given below and choose the correct answer 

A) 1 and 3 are true  B) 2 and 3 are true C) 1 and 2 are true  D) 1, 2 and 3 are true  

1. As ¼ïVá k½k\VïÂ ïVð©Ã|þÅm. 

2. Asl[ k½kD, ÷BVF| ¨ª ¶çwÂï©Ã|þÅm. 

3. As >âç¦BVª k½kÝ]_ c^ám. 

¼\uí¤B íu®ï¹_ ÄöBVªkuçÅ, ÿ¼w ØïV|Âï©Ãâ|^á z¤X|ïçá© ÃB[Ã|Ý]Â ïõ¦¤ï. 

A) 1 (\) 3 Äö  B) 2 (\) 3 Äö  C) 1 (\) 2 Äö  D) 1, 2 (\) 3 Äö 

11. Statement 1: The lines of latitude on Earth are used to find the location of a place and define the heat  

zones on Earth.  

Statement 2: The lines of longitudes on Earth are used to find the location of a place and to calculate time. 

A) 1, 2 is true  B) 1 is true & 2 is false C) 1 is false & 2 is true  D) 1, 2 is false  

íu® 1 : Asl_, ¶âÄÂ¼ïV|ï^ Îò Ö¦Ý][ ¶ç\s¦Ýç>Â ïõ¦¤B¡D, Øk©Ã \õ¦éºïçáÂ 

   ïðÂþ¦¡D ÃB[Ã|þ[Åª. 

íu® 2 : Asl_, yìÂïÂ¼ïV|ï^ Îò Ö¦Ý][ ¶ç\s¦Ýç>Â ïõ¦¤B¡D, ¼å«Ýç>Â ïðÂþ¦¡D  

           ÃB[Ã|þ[Åª. 

A) íu® 1, 2 Äö  B) íu® 1 Äö, 2 >k® C) íu® 1 >k®, 2 Äö D) íu® 1, 2 >k® 
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12. The magnitude of an earthquake is measured by ________. 

A) Seismograph   B) Richter scale  C) Ammeter   D) Rotameter 

Wéå|Âï>][ guÅ_ ØÄ¤s[ ¶ásçª ________ JéD ¶áÂïéVD. 

A) æü¼\Vþ«Và©  B) öÂ¦ì ¶á¡ ¼ïV_ C) ¶D*â¦ì  D) ¼«Vâ¼¦V *â¦ì 

13. Earthquake and volcanic eruption occur near the edges of ________. 

A) Mountain   B) Plains   C) Plates   D) Plateaus 

Wéå|ÂïD \u®D ¨ö\çé Øk½©A ________ OMl[ ¶òþé °uÃ|zÅm? 

A) \çé   B) Ä\Øk¹ï^ C) >â|ï^  D) ¬¦¯tï^ 

14. The narrow pipe through which magma flow out is called a ________. 

A) Vent    B) Crater   C) Focus   D) Caldera 

ÃVçÅÂ zwDA Øk¹¼B®D z®ïéVª zwVçB ________ ¨[® ¶ç\Âþ¼ÅVD. 

A) ¨ö\çéÝmçá B) ¨ö\çé© Ã^áD C) Wéå|Âï ç\BD D) ¨ö\çé kVF 

15. ________ belt is known as the “Ring of Fire”.  

A) Circum - Pacific  B) Mid-Atlantic  C) Mid - Continental  D) Antarctic 

________ Ãz] Øåò©A kçáBD ¨[® ¶çwÂï©Ã|þÅm. 

A) ÃE¸Â   B) ¶âéVõ½Â C) gìÂ½Â  D) ¶õ¦Vì½Â 

16. Consider the following statements  

1. The core is separated from the mantle by a boundary called Weichert Gutenberg discontinuity  

2. The earthquake waves are recorded by an instrument known as Seismograph  

3. Magma rises to the surface and spreads over a vast area is known as fissure eruption  

A) 1 and 2 only true  B) 2 and 3 only true  C) 1 and 3 only true  D) All are true  

ÿµÂïVbD íu®ïçá g«VFï. 

1. AsÂïòsuzD ïkÄÝ]uzD Öç¦¼B ¶ç\¥D ¨_çéÂ¼ïV| ØkFÄìâ zâ¦[ÃìÂ ¨[® 

¶çwÂï©Ã|þÅm. 

2. Wé å|Âï ¶çéïçá© Ã]¡ ØÄF¥D ïòsl[ ØÃBì æü¼\Vþ«Và© gzD. 

3. ÃVçÅÂ zwDA Øk¹¼B¤ ¶m Ã«sÂþ¦ÂzD Ãz] ¨ö\çé Øk¹¼BuÅD ¨[® ¶çwÂï©Ã|þÅm. 

A) 1 (\) 2 \â|D Äö B) 2 (\) 3 Äö  C) 1 (\) 3 Äö  D) ¶çªÝmD Äö 

17. Statement 1: An example for active volcano is Stromboli  

Statement 2: Seismology is the study of the earthquake  

A) Statement 1, 2 is true    B) Statement 1 is true and 2 is false  

C) Statement 1 is false and 2 is true   D) Statement 1, 2 is false  

íu® 1 : ØÄB_Ã|D ¨ö\çéÂz c>V«ðD üâ«VD ¼ÃVo gzD. 

íu® 2 : ¨ö\çéï¹[ ¶¤sB_ ¯ìk\Vª gF¡ïçá ¨ö\çé gFsBB_ ¨ª ¶çwÂþ[Åªì. 

A) íu® 1, 2 Äö  B) íu® 1 Äö, 2 >k® C) íu® 1 >k®, 2 Äö D) íu® 1, 2 >k® 

18. Assertion (A): There structure of the earth may be compared to that of an Apple.  

Reason (R): The interior of the earth consists of crust, mantle and core 

A) Both ‘A’ and ‘R’ are correct, and ‘R’ explains ‘A’. 

B) Both ‘A’ and ‘R’ are correct, and ‘R’ doesn’t explain ‘A’. 

C) ‘A’ is correct; but ‘R’ is wrong.  D) ‘A’ is wrong; ‘R’ is correct. 

íu® : ¯tl[ còkÝç> Îò g©¸¼áV| í¦ Î©¸¦éVD. 

ïV«ðD : Asl[ câÃz] ¼\¼éV| Ø\_oB ÃAÅÝ¼>V_, AsÂïò gþBkuçÅÂ ØïVõ¦m. 

A) íu® (\) ïV«ðD Äö; ¼\KD, ïV«ðD íu®ÂïVª ÄöBVª sáÂï\VzD. 

B) íu® (\) ïV«ðD Äö; gªV_, ïV«ðD íu®ÂïVª ÄöBVª sáÂï\_é. 

C) íu® \â|D Äö, ïV«ðD >k®.  D) íu® >k®, ïV«ðD \â|D Äö. 
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19. Match the following       a b c d e 

a. Earth quake  - 1. Japanese term   A) 1 2 3 4 5 

b. Sima   - 2. Africa   B) 4 5 1 3 2 

c. Pacific Ring of Fire - 3. Sudden movement  C) 3 4 5 1 2 

d. Tsunami  - 4. Silica and magnesium  D) 5 4 3 1 2 

e. Mt. Kenya  - 5. World volcanoes 

ØÃVòÝmï. 

a. Wéå|ÂïD   a 1. Û©ÃVMB ØÄV_ 

b. E\V    a 2. g©¸öÂïV 

c. ÃE¸Â Øåò©A kçáBD a 3. ]Ïì ¶]ì¡ 

d. ·ªVt    a 4. EoïV \u®D \ÂÌEBV 

e. Øï[BV \çé   a 5. céï ¨ö\çéï^ 

 a b c d e 

A) 1 2 3 4 5 

B) 4 5 1 3 2 

C) 3 4 5 1 2 

D) 5 4 3 1 2 

20. Assertion (A): The Pacific Ocean includes two thirds of the world’s volcanoes.  

Reason (R): The boundary along the Eastern and Western coast areas of the Pacific Ocean 

A) Both ‘A’ and ‘R’ are correct, and ‘R’ explains ‘A’. 

B) Both ‘A’ and ‘R’ are correct, and ‘R’ doesn’t explain ‘A’. 

C) ‘A’ is correct; but ‘R’ is wrong. 

D) ‘A’ is wrong; ‘R’ is correct. 

íu® : céþ[ J[¤_ Ö«õ| Ãºz ¨ö\çéï^ ÃE¸Â ï¦o_ c^ám. 

ïV«ðD : ÃÄ¸Â ï¦o[ ¼\uz \u®D þwÂzÂ ï¦uïç«© Ãz]çB ÃE¸Â Øåò©A kçáBD 

¨ª ¶çwÂþ¼ÅVD. 

A) íu® (\) ïV«ðD Äö; ¼\KD, ïV«ðD íu®ÂïVª ÄöBVª sáÂï\VzD. 

B) íu® (\) ïV«ðD Äö; gªV_, ïV«ðD íu®ÂïVª ÄöBVª sáÂï\_é. 

C) íu® \â|D Äö, ïV«ðD >k®. 

D) íu® >k®, ïV«ðD \â|D Äö. 

21. The Southern most point of India is  

A) Andaman   B) Kanyakumari C) Indira Point  D) Kavaratti 

ÖÍ]BVs[ Ø>[¼ïV½ xçª? 

A) ¶Í>\V[  B) ï[MBVz\ö C) ÖÍ]«Vxçª D) ïVk«â] 

22. The extent of Himalayas in the east-west is about  

A) 2,500 km   B) 2,400 km   C) 800 km   D) 2,200 km 

Ö\B\çél[ þwÂza¼\uz Ã«k_? 

A) 2500 þ.*.  B) 2400 þ.*.  C) 800 þ.*.  D) 2200 þ.*. 

23. ________ river is known as ‘Sorrow of Bihar’.  

A) Narmada   B) Godavari   C) Kosi   D) Damodar 

¬ïVö[ mB«D ¨[® ¶çwÂï©Ã|D g®? 

A) åì\>V   B) ¼ïV>Vkö  C) ¼ïVE  D) >V¼\V>ì 
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1. Father of Indian constitution is called as  

A) Gandhiji   B) Jawaharlal Nehru  C) B.R. Ambedkar  D) Rettaimalai Srinivasan  

ÖÍ]B ¶«EBéç\©¸[ >Íç> ¨[® ¶çwÂï©Ã|Ãkì? 

A) ïVÍ]B½ï^  B) ÛkÇìéV_ ¼åò C) B.R. ¶D¼ÃÝïì D) Ö«âç¦\çé æMkVÄ[ 

2. 1. The term ‘preamble’ refers to the introduction or preface to the Constitution 

2. The Preamble consists of the ideals, objectives and basic principles of the Constitution 

3. Preamble described as the ‘key to the Constitution’ 

Consider the above statements  

A) 1, 2 is true and 3 is false    B) 1, 2 and 3 are true  

C) 2 is true and 1, 3 is false    D) 2, 3 is true and 1 is false  

1. xï¡ç« ¨[Å ØÄV_ ¶«EBéç\©¸uz ¶¤xïD ¶_ém x[Ðç« ¨[Ãç> z¤ÂþÅm. 

2. xï¡ç« ¶öÄBéç\©¸[ ¶½©Ãç¦ ØïV^çïï^, ¼åVÂïºï^ \u®D ÖéâEBºïçá 

c^á¦ÂþBm. 

3. xï¡ç« ¶«EBéç\©¸[ ]Å¡¼ïV_ ¨ª z¤©¸¦©Ã|þÅm. 

¼\uïVbD íu®ïçá g«VFï. 

A) 1, 2 Äö; 3 >k® B) 1, 2 (\) 3 Äö C) 2 Äö; 1, 3 >k® D) 2, 3 Äö; 1 >k® 

3. In which year did Indian Citizenship act enacted? 

A) 1950   B) 1955  C) 1965  D) 1957 

ÖÍ]B z½¥öç\ Äâ¦D ÖBuÅ©Ãâ¦ gõ| ¨m? 

A) 1950   B) 1955  C) 1965  D) 1957 

4. Liberty, Equality and Fraternity were the important slogans during the French Revolution in the year  

A) 1789   B) 1779  C) 1799  D) 1781 

________aD gõ| ¸Ø«Þ· A«âEl[¼ÃVm ·>Í]«D, Ä\ÝmkD, Ä¼ïV>«ÝmkD gþBª 

xÂþB xwÂïºïáVlª. 

A) 1789   B) 1779  C) 1799  D) 1781 

5. Based on which constitution amendment Preamble was amended? 

A) 42
nd

    B) 43
rd

   C) 44
th

   D) 48
th

  

xï¡ç« ¨Í> ¶«EBéç\©A Äâ¦Ý]òÝ>Ý][Ã½ ]òÝ>©Ãâ¦m? 

A) 42km   B) 43km  C) 44km  D) 48km 

6. Guardian of the constitution is called as  

A) High Court   B) Supreme Court  C) Citizenship  D) Fundamental Rights  

¶«EBéç\©A ÃVmïVké[ ¨[® ¶çwÂï©Ã|km? 

A) cBìÀ]\[ÅD B) cßÄÀ]\[ÅD C) z½¥öç\  D) ¶½©Ãç¦ cöç\ 

ÖÍ]B ¶«EBéç\©A, xï¡ç«, ¶â¦kçðï^, Ãz]ï^ 

\u®D ¼>EB E[ªºï^ 
¼>ì¡ a 22 
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7. According to Dr. Ambedkar, which article is “the heart and soul of the Constitution”? 

A) Article 31  B) Article 32  C) Article 30  D) Article 29 

¶D¼ÃÝïö[ íu®©Ã½ ÖÍ]B ¶«EBéç\©¸[ Ö>BD (\) g[\V ¨[® ¶çwÂï©Ã|D Äâ¦©¸ö¡ ¨m? 

A) Äâ¦©¸ö¡ 31  B) Äâ¦©¸ö¡ 32 C) Äâ¦©¸ö¡ 30 D) Äâ¦©¸ö¡ 29 

8. Statement 1: The word ‘Citizen’ is derived from the Latin term ‘Civis’. 

Statement 2: Articles 5 to 11 under part II of the Constitution deals with the citizenship. 

A) Statement 1, 2 is true    B) Statement 1 is true and 2 is false  

C) Statement 1 is false and 2 is true   D) Statement 1, 2 is false  

íu® 1 : Eâ½Ä[ ¨[ÐD ‘Esü’ ¨[ÐD éÝy[ ØÄV_ooòÍm ØÃÅ©Ãâ¦>VzD. 

íu® 2 : ÖÍ]B ¶«EBéç\©¸[ Ãz] II Äâ¦©¸ö¡ï^ 5 a 11 kç« z½¥öç\çB© Ãu¤ 

sáÂzþ[Åª. 

A) íu® 1, 2 Äö     B) íu® 1 Äö, 2 >k® 

C) íu® 1 >k®, 2 Äö    D) íu® 1, 2 >k® 

9. Assertion: Part III of the Constitution is rightly described as the Magna Carta of India 

Reason: While Fundamental Rights are available to all persons, certain Fundamental Rights are  

available only to Indian Citizens. 

A) Assertion and reason are true   B) Assertion and reason are false  

C) Assertion is true and reason is false   D) Assertion is false and reason is true  

íu® : ÖÍ]B ¶«EBéç\©¸[ Ãz] III ÖÍ]BVs[ \ïVÄVÄªD ¨[® ¶çwÂï©Ã|þÅm. 

ïV«ðD : ÖÍ]BVs_ kEÂzD \Âï^ ¶çªkòÂzD ¶½©Ãç¦ cöç\ï^ ØÃVmkVªm. 

gªV_ ÖÍ]B z½\ÂïÓÂz \â|¼\ Eé ¶½©Ãç¦ cöç\ï^ c^áª. 

A) íu® (\) ïV«ðD Äö.   B) íu® (\) ïV«ðD >k®. 

C) íu® \â|D Äö, ïV«ðD >k®.  D) íu® >k®, ïV«ðD \â|D Äö. 

10. Match the following  

a. Article 14 - 1. Abolition of Titles  

b. Article 16 - 2. Abolition of Untouchability  

c. Article 17 - 3. Providing Equal opportunities in public employment  

d. Article 18 - 4. Equality before law  

 a b c d 

A) 1 3 4 2 

B) 3 4 1 2 

C) 1 2 4 3 

D) 4 3 2 1 

ØÃVòÝmï. 

a. ¸ö¡ 14  a 1. Ãâ¦ºï^ Îa©A. 

b. ¸ö¡ 16  a 2. yõ¦Vç\çB ÎaÝ>_. 

c. ¸ö¡ 17  a 3. ØÃVm ¼kçé kVF©Aï¹_ Ä\ kVF©A ¶¹Ý>_. 

d. ¸ö¡ 18  a 4. Äâ¦Ý][ x[ ¶çªkòD Ä\D. 

 a b c d 

A) 1 3 4 2 

B) 3 4 1 2 

C) 1 2 4 3 

D) 4 3 2 1 
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11. Which of the following described by Dr. B.R. Ambedkar as ‘novel features’ of Indian Constitution? 

A) Fundamental rights      

B) Fundamental duties  

C) Directive Principles of State Policy   

D) Right to Constitutional remedies  

ÖÍ]B ¶«EBéç\©¸[ Amç\BVª EÅ©ÃDÄD ¨ª ¦VÂ¦ì. B.R. ¶D¼ÃÝïì ¨>çª sköÂþÅVì? 

A) ¶½©Ãç¦ cöç\ï^    B) ¶½©Ãç¦ ï¦ç\ï^ 

C) ¶«· Øå¤xçÅ¥®ÝmD ¼ïVâÃV|ï^ D) ¶«EBéç\©AÂz câÃâ| yì¡ ïVbD cöç\ 

12. Based on which amendment Right to Property was deleted from the list of Fundamental Rights? 

A) 44
th

    B) 42
nd

   C) 43
rd   

D) 48
th

  

¨Í> ¶«EBéç\©A Äâ¦Ý]òÝ>Ý][Ã½ ¶½©Ãç¦ cöç\ï^ Ãâ½BooòÍm ØÄVÝmöç\ 

ÀÂï©Ãâ¦m? 

A) 44km   B) 42km  C) 43km  D) 48km 

13. Which of the following Safeguards people from illegal arrests? 

A) Habeas Corpus B) Mandamus  C) Prohibition  D) Certiorari 

Äâ¦Ý]uz AÅDÃVï Îòkì çïm ØÄFB©Ã|k]oòÍm ÃVmïV©Ãm ¨m? 

A) gâØïVðì¡ À]©¼Ã«Vçð   B) ïâ¦çá¥®ÝmD À]©¼Ã«Vçð 

C) >ç¦¥®ÝmD À]©¼Ã«Vçð   D) gkðÂ¼ïâA À]©¼Ã«Vçð 

14. Which article states that Right to elementary education? 

A) Article 21  B) Article 45  C) Article 21A  D) Article 39 

Ø>V¦ÂïÂï_s ØÃ®D cöç\ÂïVª Äâ¦©¸ö¡ ¨m? 

A) ¸ö¡ 21  B) ¸ö¡ 45  C) ¸ö¡ 21A  D) ¸ö¡ 39 

15. Which of the following is incorrect about the Directive Principles of State Policy? 

A) It was drawn on the model of the Constitution of Ireland. 

B) These are mere instructions to the Government. 

C) These are not enforceable in any court. 

D) These have legal sanctions. 

ÿµÂïõ¦ku®^ ¶«· Øå¤xçÅ¥®ÝmD ¼ïVâÃV|ï¹_ >kÅVªm ¨m? 

A) Öm ¶BìéVÍm åVâ½[ ¶«EBéç\©¸oòÍm ØÃÅ©Ãâ¦çk. 

B) Öçk ¶«·Âz Øk®D ¶¤¡®Ý>_ï¼á gzD. 

C) ¨Í> À]\[ÅÝ>VKD ïâ|©Ã|Ý> x½BVm. 

D) Öçk Äâ¦ Î©A>çé ØÃuÅçk. 

16. In which year did the 86th Amendment Act was made to change the subject -matter of Article 45 and made 

elementary education a fundamental right under Article 21 A? 

A) 2004   B) 2001  C) 2003  D) 2002 

¨Í> gõ| ¼\uØïV^á©Ãâ¦ 86km ¶«EBéç\©A Äâ¦Ý]òÝ>Ý][Ã½ ÖÍ]B ¶«EBéç\©¸[ 

¸ö¡ 45 ]òÝ>©Ãâ| ¸ö¡ 21Aa[ ÿµ Ø>V¦ÂïÂ ï_s ¶½©Ãç¦ cöç\BVï ¼ÄìÂï©Ãâ|^ám? 

A) 2004   B) 2001  C) 2003  D) 2002 

17. The colour of the Asoka chakra found in our National Flag is ________. 

A) Sky Blue   B) Navy Blue   C) Blue   D) Green 

åD ¼>EBÂ ØïV½l_ c^á ¶¼ÄVïß ÄÂï«Ý][ WÅD ________. 

A) Øk¹ìÀéD  B) ïòÀéD  C) ÀéD  D) ÃßçÄ 
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18. The first flag ever flown after the Independence is stored in ________  

A) Chennai fort Museum    B) Delhi Museum  

C) Saranath Museum     D) Kolkata Museum 

ÖÍ]B s|>çé åV¹_ ÃÅÂïs¦©Ãâ¦ x>_ ¼>EBÂØïV½ ________ ¶òºïVâEBïÝ]_ 

c^ám. 

A) ØÄ[çª ¼ïVâç¦ B) Ø¦_o  C) ÄV«åVÝ  D) ØïV_ïÝ>V 

19. Match the following      a b c 

List    Subjects  A) 1 2 3 

a. Union List   - 1. 100  B) 3 2 1 

b. State list   - 2. 61   C) 1 3 2 

c. Concurrent List  - 3. 52   D) 2 3 1 

ØÃVòÝmï.      a b c 

Ãâ½B_  mçÅ   A) 1 2 3 

a. \Ý]B Ãâ½B_ a 1. 100  B) 3 2 1 

b. \VWé© Ãâ½B_ a 2. 61   C) 1 3 2 

c. ØÃVm© Ãâ½B_ a 3. 52   D) 2 3 1 

20. 1. The Fundamental Duties in the Indian Constitution are inspired by the Constitution of former USSR. 

2. In 1976, the Sardar Swaran Singh Committee to make recommendations on Amendment in Constitution. 

The 42
nd

 Amendment act of 1976 added some responsibilities of citizen to our constitution is called 

Fundamental Duties. 

3. Fundamental duties added a new Part 3 A in the constitution  

Consider the above statements 

A) 1, 2 is true and 3 is false    B) 1, 2 and 3 are true  

C) 2 is true and 1, 3 is false    D) 2, 3 is true and 1 is false  

1. ÖÍ]B ¶«EBéç\©¸[ ¶½©Ãç¦ ï¦ç\ï^ x[ªV_ ¼ÄVsBÝ RMB[ ¶«EBéç\©¸[ 

>VÂïÝ>V_ ¼ÄìÂï©Ãâ¦>VzD. 

2. 1976aD gõ| ¶ç\Âï©Ãâ¦ Äì>Vì ük«õ Eº ïtâ½ ¶«EBéç\©A Äâ¦Ý]òÝ>D 

ØÄFB ÃöÍmç«Ý>m. ¶>[Ã½, 1976aD gõ| ¼\uØïV^á©Ãâ¦ 42km ¶«EBéç\©A 

Äâ¦Ý]òÝ>D å\m ¶«EBéç\©¸_ z½\Âï¹[ ØÃV®©Aï^ EékuçÅ ¼ÄìÝ>m. 

3. ¶½©Ãç¦ ï¦ç\ï^ ¶«EBéç\©¸[ Ãz] 3A ¨[Å Îò A]B Ãz]çB ¼ÄìÝ>m. 

¼\uïVbD íu®ïçá g«VFï. 

A) 1, 2 Äö; 3 >k®    B) 1, 2 (\) 3 Äö  

C) 2 Äö; 1, 3 >k®    D) 2, 3 Äö; 1 >k® 

21. Choose the incorrect Pair (Sources of the Indian Constitution)  

A) Canada   - Advisory jurisdiction of the Supreme Court.  

B) Australia   - Trade  

C) French   - Republic  

D) South Africa   - Suspension of Fundamental Rights during Emergency 

>kÅVª ÖçðçBÂ ïVõï. (ÖÍ]B ¶«Äç\©¸[ Jé g>V«ºï^) 

A) ïª¦V   a cßÄÀ]\[ÅÝ][ ¶¤¡ç« ¶]ïV« k«DA. 

B) gü]¼«oBV  a kèïD 

C) ¸«V[·   a z½B«· 

D) Ø>[ªV©¸öÂïV a ØåòÂï½ Wçé ïVéÝ]_ ¶½©Ãç¦ cöç\ï^ Ã¤©A. 
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22. Statement 1: Thiyagi Sankaralinganar observed fasting for 76 days from 27.07.1956 to 13.10.1956,  

for the name conversion of Chennai Presidency as “Tamizhagam.” 

Statement 2: The State of Madras changed the name as State of Tamil Nadu on 14th January 1969. 

A) Statement 1, 2 is true     

B) Statement 1 is true and 2 is false  

C) Statement 1 is false and 2 is true    

D) Statement 1, 2 is false  

íu® 1 : \>«Vü \VïVðÝç> >twïD ¨ª ØÃBì \VuÅÂ¼ïVö, ]BVþ Äºï«oºïªVì 

27.07.1956 x>_ 13.10.1956 kç« 76 åVâï^ cõðVs«>D ÖòÍm clì ÀÝ>Vì. 

íu® 2 : \>«Vü \VWé ØÃBì\VuÅ Äâ¦D Ûªkö 14, 1969aD gõ| >tµåV| ¨ª 

ØÃBì\VuÅD ØÄFB©Ãâ¦m. 

A) íu® 1, 2 Äö     B) íu® 1 Äö, 2 >k® 

C) íu® 1 >k®, 2 Äö    D) íu® 1, 2 >k® 

23. National Song Vande Matharam was written by  

A) Pingali Venkayya     B) Rabindranath Tagore  

C) Bankim Chandra Chatterjee    D) Gandhiji  

¼>EB© ÃV¦éVª kÍ¼> \V>«Ýç> ¨¿]Bkì ________. 

A) ¸ºïVo ØkºçïBV    B) «TÍ]«åVÝ >Víì 

C) ÃºþD ÄÍ]« Äâ¦ì÷    D) ïVÍ]÷ 

24. National Anthem of India was  

A) Jana Gana Mana     B) Vande Mataram 

C) Amar Sonar Bangla    D) Neerarum kaduluduththa 

ÖÍ]BVs[ ¼>EBÂ ÿ>D ________. 

A) Ûª ïð \ª     B) kÍ¼> \V>«D 

C) ¶\ì ¼ÄVªVì ÃVºï¼é   D) À«V|º ï¦K|Ý> 

25. Who wrote the most famous novel Anand Math?  

A) Akbar       B) Rabindra Nath Tagore  

C) Bankim Chandra Chatterjee   D) Jawaharlal Nehru 

gªÍ>\¦D ¨[Å AïµØÃuÅ åVkçé ¨¿]Bkì BVì? 

A) ¶ÂÃì      B) «TÍ]«åVÝ >Víì 

C) ÃºþD ÄÍ]« Äâ¦ì÷    D) ÛkÇìéV_ ¼åò 

26. ________ birthday is celebrated as the International Day of Nonviolence? 

A) Mahatma Gandhi     B) Subash Chandra Bose  

C) Sardar Vallabhai Patel    D) Jawaharlal Nehru 

________ ¸ÅÍ>åVçáß Äìk¼>Ä ¶þDçÄ åVáVïÂ ØïVõ¦V|þ¼ÅVD. 

A) \ïVÝ\V ïVÍ]B½ï^   B) ·ÃVi ÄÍ]« ¼ÃVü 

C) Äì>Vì k_éÃVF Ãâ¼¦_   D) ÛkÇìéV_ ¼åò 

27. The National Anthem was written by ________. 

A) Devendranath Tagore     B) Bharatiyar  

C) Rabindranath Tagore    D) Bala Gangadhar Tilak 

¼>EB ÿ>Ýç> ÖBu¤Bkì ________. 

A) ¼>¼kÍ]«åVÝ >Víì    B) ÃV«]BVì 

C) «TÍ]«åVÝ >Víì    D) ÃVéïºïV>« ]éïì 
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1. Gross National Happiness Index (GNHI) was started in the year 

A) 872    B) 1972  C) 1962  D) 1862 

Ø\VÝ> åVâ| \þµßE z¤X| ( GNHI) còkVÂï©Ãâ¦ kò¦D? 

A) 872    B) 1972  C) 1962  D) 1862 

2. Analyze the statement 

1. According to the Economic Survey for the year 2014-15, 8%-plus GDP growth rate has been predicted, 

with actual growth turning out to be a little less (7.6%) 

2. Indian back’s seventh position in terms of nominal gross domestic product in the world. 

3. First in terms of Purchasing Power Parity 

A) All true   B) 1, 2 true   C) 2, 3 true   D) 1, 3 true 

íu®ïçá g«VFï. 

1. 2014-15 gõ½uïVª Ø\VÝ> c^åVâ| cuÃÝ] káìßE T>D 8% ¨ª WìðlÝ>¼ÃV]KD 

cõç\BVª káìßE 7.6% gï ÖòÍ>m. 

2. ÖÍ]BV céï© ØÃVòáV>V«Ý]_ Ø\VÝ> c^åVâ| cuÃÝ]l_ °wVkm Ö¦Ý]_ c^ám. 

3. kVºzD ÄÂ]l_ x>o¦Ý]_ c^ám. 

A)  ¶çªÝmD Äö B) 1, 2 \â|D Äö  C) 2, 3 \â|D Äö  D) 1, 3 \â|D Äö  

3. Find the correct one (India)  

1. World’s geographical area  - 1.2%  2. World’s Revenue   - 2.4 % 

3. World’s population   - 17.5%. 4. Population (Recently)  - First 

A) All are true   B) 1, 2, 3 true   C) 3, 4 true   D) None of the above 

ÄöBVªkuçÅ ¼>ì¡ ØÄFï.(ÖÍ]BV) 

1. céþ[ As©Ã«©¸_  a 1.2%  2. céï kòkVl_   a 2.4% 

3. céï \Âï^Ø>Vçïl_ a 17.5%  4. \Âï^Ø>Vçïl_ (>u¼ÃVm) a x>o¦D 

A)  ¶çªÝmD Äö    B) 1, 2, 3 \â|D Äö   

C) 3, 4 \â|D Äö     D) ¨m¡t_çé  

4. Which year is known as ‘Year of Population Explosion’ 

A) 1921   B) 1951  C) 1961  D) 2001 

\Âï^Ø>Vçï Øk½©A gõ| ¨ªÂ z¤©¸¦©Ã|D kò¦D? 

A) 1921   B) 1951  C) 1961  D) 2001 

5. Who introduced the National Development Council in India?  

A) Ambedkar      B) Jawaharlal Nehru  

C) Radhakrishnan     D) V.K.R.V. Rao 

¼>EB káìßEÂïwïÝç> ¶¤xï©Ã|Ý]Bkì BVì? 

A)  ¶D¼ÃÝïì  B) ÛkÇìéV_ ¼åò C) Ö«V>Vþòið[ D) V.K.R.V. «VË    

ÖÍ]B© ØÃVòáV>V«D, nÍ>Võ|Ý ]â¦ºï^,  

W] g¼BVÂ a HDI, PQLI, GNHI. 
¼>ì¡ a 29 
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6. Freedom is never dear at any price. It is the breath of life was said by 

A) Gandhi   B) Tyler Cowen  C) Nehru   D) Ambedkar 

s|>çé ¨Í> sçéÂz\ ~¦VïVm s|>çé ¨[Ãm  kVµs[ Jß·       ¨[® í¤Bkì? 

A)  ïVÍ]   B) Ø¦Féì ¼ïVk[  C) ¼åò   D)  ¶D¼ÃÝïì  

7. Match         a b c d 

a. Low Birth Rate   - 1. West Bengal  A) 4 3 2 1 

b. High Birth Rate   - 2. Uttar Pradesh  B) 4 2 1 3 

c. Low Death Rate  - 3. Odisha   C) 4 3 1 2 

d. High Death rate   - 4. Kerala   D) 1 2 3 4 

ØÃVòÝmï.               a b c d 

a. zçÅÍ> ¸Å©A sþ>D  a 1. ¼\uz kºïVáD  A)   4     3      2      1 

b. ¶]ï ¸Å©A sþ>D     a 2. cÝ]«¸«¼>ÄD  B)  4 2 1 3 

c. zçÅÍ> ÖÅ©A sþ>D a 3. ÎöÄV   C)   4  3 1 2 

d. ¶]ï ÖÅ©A sþ>D    a 4. ¼ï«áV      D)   1    2 3 4 

8. Which state is not matched under BIMARU that the states have very high population? 

A) Bihar    B) Maharashtra  C) Madhya Pradesh  D) Rajasthan 

¶]ï \Âï^Ø>Vçï ØïVõ¦ \VWéºï¹_( BIMARU) ØÃVòÍ>V> \VWéÝç> ¼>ìÍØ>|? 

A) ¬ïVì   B) \ïV«Vi½«V C) \Ý]B ¸«¼>ÄD  D) Ö«VÛü>V[   

9. Analyse the statement (India) 

1. Population density  - 555   2. Sex ratio   - 940 

3. Literacy rate   - 74.04%  4 Life Expectancy  - 63.5 years 

A) 1, 2 true   B) 2, 3 true   C) All true   D) 2, 3, 4 true 

íu®ïçá g«VFï.(ÖÍ]BV) 

1. \Âïá¦ìÝ]  a 555   2. ÃVoª sþ>D  a 940 

3. ï_sB¤¡  a 74.04%  4. kVµåV^ ¨]ìÃVì©A a 63.5 gõ|ï^ 

A)  1, 2 \â|D Äö  B) 2, 3 \â|D Äö C) ¶çªÝmD Äö D) 2, 3, 4 \â|D Äö  

10. As per UNECE how much character total diamond reserve can be estimated throughout the country? 

A)  4852    B) 4252   C) 4582    D) 4528 

UNECE ¶¤Âçïl[ Ã½ åV| x¿k]KD ¨Ëká¡ ïV«â çk«ºï^ þç¦Âþ[Åª ¨ª  

z¤©¸¦©Ã|þÅm. 

A) 4852   B) 4252   C) 4582   D) 4528  

11. Indian Railways Provide Wi-Fi Facility First in India is 

A) Chennai   B) Maharashtra  C) Bengaluru  D) Mumbai 

ÖÍ]B[ Ö«l_¼k x>_ wi-fi kÄ]çB ¨ºz Ø>V¦ºþBm? 

A) ØÄ[çª  B) \ïV«Vi½«V  C) ØÃºïjò  D) xDçÃ  

12. Arrange the following sequence (Public finance Stated by Valluvar) 

1. Collection of revenue     2. Creation of revenue  

3. Public expenditure     4. Management of revenue 

A) 4, 1, 2, 3  B) 2, 1, 4, 3  C) 2, 4, 1, 3  D) 4, 2, 1, 3 

köçÄ©Ã|Ýmï. (k^Ókì kzÝ> ØÃVm W]) 

1. kòkVçBß ¼ÄïöÝ>_   2. kòkVF còkVÂz>_ 

3. ØÃVmßØÄé¡     4. kòkVF WìkVïD 

A) 4, 1, 2, 3  B) 2, 1, 4, 3  C) 2, 4, 1, 3  D) 4, 2, 1, 3 
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13. Which of the following Is correct about that Valluvar advocated the main items of a public expenditure? 

A) Public Works   B) Social Services  C) Defence   D) All  

ØÃVmßØÄéçk ØÄés|D xçÅïáVï k^Ókì z¤©¸|k]_ ÄöBVªm ¨m/¨çk? 

A) ØÃVm©Ãèï^ B) ÄJï©Ãè  C) ÃVmïV©A   D) ¶çªÝmD  

14. Who described that Economics that hurts the moral well-being of an individual or a nation is immoral, and 

therefore, sinful?  

A) J C Kumarappa  B) Gandhi   C) Valluvar   D) Ambedkar 

Îò ¼>ÄÝ][ ¶_ém Îò >MBVö[ >Vì*ï Î¿Âï Øå¤ïçáÂ ïVB©Ã|Ý]ªV_ ¶Í>  

ØÃVòáV>V« å¦k½Âçï ÃVk\Vªm ¨[® z¤©¸|Ãkì BVì? 

A) ¼Û.E. z\«©ÃV  B) ïVÍ]   C) k^Ókì   D) ¶D¼ÃÝïì  

15. Who said “the essence of planning is to find the best way to utilize all resources of manpower, of money and 

so on.” 

A) Gandhi   B) Visvesvaraya  C) Nehru   D) Valluvur 

]â¦t|>o[ ÄV«D ¨[Ãm \M> ÄÂ] káºï^ ÃðD ÖkuçÅ EÅÍ> kaï¹_ 

ÃB[Ã|Ýmkç>Â z¤ÂzD ¨[Åkì? 

A)  ïVÍ]   B) sü¼kük«FBV C) ¼åò   D) k^Ókì  

16. The Problem of the Rupee book was released in the year? 

A) 1936   B) 1932  C) 1923  D) 1921 

“ÔÃVl[ ¸«ßÄçªï^” ¨ÐD ±_ Øk¹BVª gõ|? 

A) 1936   B) 1932  C) 1923  D) 1921 

17. Who is credited for developing economic theories based on Gandhism 

A) H W Singer   B) Keynes   C) Kumarappa  D) V. K. R. V. Rao 

>[Ðç¦B ¶çªÝm ØÃVòáV>V«Â ïòÝmÂïçá¥D ïVÍ]BD ¨[Ã>[ ¶½©Ãç¦l_  

¶ç\Ý>kì BVì? 

A)  H.W. Eºïì  B) ÿ[ü   C) z\«©ÃV   D) V.K.R.V. «VË  

18. Who was the author of the book “What is wrong with Indian Economic Life”? 

A) J C Kumarappa  B) Nehru   C) Rao   D) Ambedkar 

""ÖÍ]B© ØÃVò¹B_ kVµs_ ¨[ª >k®'' a gEöBì BVì? 

A) ¼Û.E. z\«©ÃV B) ¼åò   C) «VË   D) ¶D¼ÃÝïì  

19. Amartya Kumara Sen received the Nobel prize in Economics in the year 

A) 1999    B) 1898   C) 1988   D) 1998  
¶\ìÝ]BVz\VìØÄ[ ¶kìï^ ¨Í> gõ| ØÃVòáV>V«Ý]uz ¼åVÃ_ Ãö· ØÃuÅVì? 

A)  1999   B) 1898   C) 1988   D) 1998  

20. The advocate of democratic socialism was  

A) Jawaharlal Nehru     B) P.C. Mahalanobis 

C) Dr. Rajendra Prasad     D) Indira Gandhi 

\ÂïáVâE Ä\>ì\Ýç>Â ØïVõ| kÍ>kì? 

A) ÛkÇìéV_ ¼åò     B) P.C. \Çé¼åV¸ü  

C) Dr. «V¼ÛÍ]« ¸«ÄVÝ    D) ÖÍ]«VïVÍ] 

21. Which of the following year is not matched with enacted industrial policy in India? 

A) 1948   B) 1956  C) 1966  D) 1980 

ÖÍ]B Ø>VauØïV^çï ØïVõ|k«©Ãâ¦ kò¦ºï¹_ ØÃVòÍ>V>m? 

A) 1948   B) 1956  C) 1966  D) 1980 
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22. which industrial policy was enacted based on P.C. Mahalanobis Model? (year) 

A) 1956   B) 1948  C) 1966  D) 1991 

P.C. \Çé¼åV¸ü a[ káìßE \V]öl[ ¶½©Ãç¦l_ còkVÂï©Ãâ¦ Ø>VauØïV^çï ¨m? 

(kò¦D) 

A) 1956   B) 1948  C) 1966  D) 1991 

23. Who is known as the father of world Green Revolution 

A) M S Swaminathan  B) J C Kumarappa  C) Harrod-Domar  D) Norman Borlaug  

céï© Ã·ç\©A«âEl[ >Íç> ¨ª©Ã|Ãkì BVì? 

A)  M.S. ·kVtåV>[ B)  J.C. z\«©ÃV C) ÇV«â ¼¦V\ì D) åVì\[ ¼ÃVìéVÂ  

24. Match        a b c d 

a. Silver Revolution - 1. Leather Products  A) 1 2 3 4 

b. Grey Revolution  - 2. Meat Production  B) 3 4 2 1 

c. Brown Revolution  - 3. Egg Production  C) 3 4 1 2 

d. Red Revolution  - 4. Fertilizers   D) 4 3 2 1 

ØÃVòÝmï.              a b c d   

a. Øk^¹©A«âE  a 1. ¼>V_ ØÃVòâï^  A)   1 2 3 4 

b. ÄVDÃ_ A«âE  a 2. ÖçÅßE   B)  3 4 2 1 

c. Ã¿©A A«âE  a 3. xâç¦   C)   3 4 1 2 

d. Ek©A A«âE    a 4. c«ºï^    D)   4 3 2 1 

25. The government decided to nationalize major commercial banks on 

A) 1980   B) 1979  C) 1969  D) 1996 

¶«· ØÃöB kèï kºþïçá åVâ|ç¦ç\BVÂþB kò¦D? 

A) 1980   B) 1979  C) 1969  D) 1996 

26. Which bank does not comes on the nationalization of commercial bank done on 15 April 1980 

A) Punjab & Sindh Bank  B) Andhra Bank  C) Vijaya Bank  D) Syndicate Bank 

15 °©«_a 1980_ åVâ|ç¦ç\BVÂï©Ãâ¦ kºþï¹_ ØÃVòÍ>V> kºþ ¨m? 

A) ÃÞÄV© a EÍm kºþ B) gÍ]«V kºþ C) sÛBV kºþ D) E[½¼ïâ kºþ  

27. Which five year plan has the basic objective poverty eradication 

A) First    B) Fifth   C) Sixth   D) Ninth 

""k®ç\ Îa©A'' ¨[Ã>çª ÖéÂïVÂ ØïVõ¦m ¨Í> nÍ>Võ|Ý ]â¦D? 

A)  x>éVkm  B) nÍ>Vkm   C) gÅVkm   D) Î[Ã>Vkm  

28. Match (Five Year Plan)  

Plan     Year   a b c d 

a. Fifth Five Year Plan   -  1. 1997 - 2002 A) 1  2  3  4 

b. Seventh Five Year Plan   -  2. 2012 - 2017  B) 4  3  2  1 

c. Ninth Five Year Plan    - 3. 1974 - 1979  C) 3   4   1  2 

d. Twelfth Five Year Plan   - 4. 1985 - 1990 D) 3  4  2   1 

ØÃVòÝmï. (nÍ>Võ|Ý ]â¦ºï^ \u®D kò¦D) 

  ]â¦D     kò¦D   a b c d 

a. nÍ>Vkm nÍ>Võ|Ý ]â¦D  a 1. 1997 - 2002 A)   1 2 3 4 

b. 7km nÍ>Võ|Ý ]â¦D  a 2. 2012 - 2017 B)  4 3 2 1 

c. 9km nÍ>Võ|Ý ]â¦D  a 3. 1974 - 1979 C)   3 4 1 2 

d. 12km nÍ>Võ|Ý ]â¦D     a 4. 1985 - 1990  D)   3 4 2 1 
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29. Which five-year plan has main objective was Faster, More Inclusive and Sustainable Growth? 

A) 7
th

    B) 9
th

    C) 11
th

   D) 12
th

  

“sç«kVª ¶]ï\Vª c^á¦ÂþB \u®D WçéBVª káìßE” a ÖéÂïVïÂ ØïVõ¦ nÍ>Võ| 

]â¦D ¨m? 

A) 7
km

   B) 9
km

    C) 11
km

  D) 12
km

   

30. The draft of this Fifth Five Year Plan was prepared by 

A) P.C. Mahalanobis  B) Harrod-Domar  C) D.P. Dhar   D) Kumarappa 

nÍ>VD nÍ>Võ|Ý ]â¦Ý][ káìßE \V]öçB còkVÂþBkì? 

A)  P.C. \Çé¼åV¸ü B) ÇV«â ¼¦V\ì  C) D.P. >Vì   D) z\«©ÃV  

31. Which five-year plan was called Gadgil Yojana 

A) Second   B) Fourth   C) Third   D) Seventh 

“ïVâþ_ ]â¦D” ¨[® ¶çwÂï©Ã|D nÍ>Võ|Ý ]â¦D? 

A) Ö«õ¦Vkm  B) åV[ïVkm  C) J[ÅVkm  D) °wVkm  

32. Who has stated that the calculation of HDI neglected many important aspects of human development 

A) Ramachandra Guha     B) Biswajeet Guha   

C) J C Kumarappa     D) Amartya Sen 

\M> ¼\DÃVâ|Â z¤X¦Vªm  \M> káìßEÂïVª xÂþB ¶DÄºïçá© AÅÂïèÂþÅm ¨[®  

í¤Bkì BVì? 

A)  Ö«V\ßÄÍ]« zÇV B) ¸ük÷Ý zÇV  C) J.C. z\«©ÃV   D) ¶\ìÝ]BVØÄ[  

33. Ryotwari system was initially introduced in  

A) Kerala    B) Bengal   C) Tamil Nadu  D) Maharashtra 

Ö«BÝmkVö x>[x>o_ ¶¤xï©Ã|Ý>©Ãâ¦ Ö¦D? 

A) ¼ï«áV   B) kºïVáD   C) >tµåV|   D) \ïV«Vi½«V  

34. The objective of the Industrial Policy 1956 was 

A) Develop heavy industries    B) Develop agricultural sector only  

C) Develop private sector only    D) Develop cottage industries only 

1956a gõ| Ø>VauØïV^çïl[ ¼åVÂïÝç> ¼>ìÍØ>|? 

A)  ØÃöB W®kªºïçá x[¼ªu®km  

B) ¼káVõmçÅçB \â|D x[¼ªu®km  

C) >MBVì mçÅçB \â|D x[¼ªu®km   

D) z½çÄÝ Ø>Va_ïçá \â|D x[¼ªu®km   

35. The main objective of nationalization of banks was 

A) Private social welfare B) Social welfare  C) To earn   D) Industries monopoly 

kºþï^ ¼>EB\B\VÂï©Ãâ¦>[ xÂþB ¼åVÂïD? 

A)  >MBVì ÄJï åéD B) ÄJï åéD  C) kòkVF ~â¦ D) Ø>Va_ xu®öç\  

36. The PQLI was developed by 

A) Planning Commission  B) D. Morris   C) Biswajeet   D) Amartya Sen 

kVµÂçïÝ>« z¤Xâ| ¨õçð còkVÂþBkì BVì? (PQLI) 

A)  ]â¦Âz¿  B) ½.¼\Vöü   C) ¸ük÷Ý   D) ¶\ìÝ]BVØÄ[  

37. HDI was first published in the year 

A) 1965    B) 1980   C) 1990    D) 1996 

HDI ¨Í> gõ| x>_ Øk¹l¦©Ã|þÅm? 

A)  1965   B) 1980   C) 1990   D) 1996  
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38. Find the correct one 

1. GNP = C+I+G+(X-M)+NFIA   2. NDP = GDP – Depreciation  

3. Per Capita Income = National Income / Population Density  

A) 2, 3 true  B) 1, 2, 3 true   C) 1, 2 true   D) 1, 3 true 

ÄöBVªkuçÅÝ ¼>ì¡ ØÄFï. 

1. GNP = C+I+G+(X-M)+NFIA   2. NDP = GDP - ¼>F\VªD  

3. >éVkò\VªD = åVâ|kò\VªD / \Âï^ Ø>Vçï. 

A)  2, 3 Äö  B) 1, 2, 3 \â|D Äö  C) 1, 2 \â|D Äö D) 1, 3 \â|D Äö   

39. The book “Poverty and Un-British Rule in India” was written by? 

A) Surendranath Banerjee    B) Dadabhai Naoroji  

C) Gokhale      D) Tagore 

k®ç\¥D ¸öâ¦ÐÂzØïVËkV> ÖÍ]B gâE¥D ¨[Å ±o[ gEöBì? 

A)  ·¼«Í]«åVÝ ÃVªì÷    B) >V>VÃVF Øåá¼«V÷  

C) ¼ïVï¼é      D) >Víì  

40. The year in which UN General Assembly adopted the resolution “towards a holistic approach to 

develop” was? 

A) 1972   B) 2008  C) 2011  D) 2007 

“káìßEÂïVª Îò x¿ç\BVª ¶bzxçÅçB ¼åVÂþ” ¨[Å yì\VªD n.åV. ÄçÃBV_ 

WçÅ¼kuÅ©Ãâ¦ kò¦D? 

A) 1972   B) 2008  C) 2011  D) 2007 

 

 

 
 

1. I. The modern concept of GDP was first developed by Simon Kuznets in 1943 

II. Net Domestic Product = Gross Domestic Product – Depreciation 

III. Value of intermediate goods are added with GDP; its effect is considered as double accounting. 

A) All are true   B) I, II true   C) II, III true   D) I, III true 

I. 1943 D gõ| çÄ\[ züåâ ¨[Ãk«V_ GDP-[ åTª ïòÝm x>[ x>o_ 

còkVÂï©Ãâ¦m. 

II. Wï« c^åVâ| cuÃÝ] = Ø\VÝ> c^åVâ| cuÃÝ] - ¼>F\VªD  

III. Öç¦Wçé Ãõ¦Ý][ \]©çÃ Ø\VÝ> c^åVâ| cuÃÝ]l_ ¼ÄìÝ>V_ ¶>[ sçá¡  

    ÖòxçÅ ïðÂþ|>_ ¨ª©Ã|þÅm. 

A) ¶çªÝmD Äö B)  I, II   Äö    C)  II, III Äö    D)  I, III Äö   

2. Analyse the statement 

1. India is the leading producer of agricultural products 

2. India contribute 7.39% of total world agricultural products 

A) 1, 2 true   B) 2 only true   C) 1 true   D) 1, 2 false 

íu®ïçá g«VFï. 

1. ÖÍ]BV ¼káVõ ØÃVòâï¹[ cuÃÝ]l_ x>_ åV¦VïÝ ]ïµþÅm. 

2. céþ[ Ø\VÝ> ¼káVõ ØÃVòâï¹[ cuÃÝ]l_ ÖÍ]BVs[ Ãºz 7.39% gzD. 

A)  1, 2 Äö      B) 2 \â|D Äö   

C) 1 \â|D Äö      D)  1, 2 >k®  

¼>EB kòkVF, köï^, GST \u®D W] gçðBD ¼>ì¡ a 30 
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3. Identify the correct statement 

I. Gross value added (GVA) = GDP + subsidies - taxes 

II. The contribution of agriculture to the Indian economy is 6.4% higher than world's average  

III. GDP is the income measure of sum of all expenditure on all the final goods and services produced       

     in the country during a specified period 

A) All are true   B) I, II true   C) II, III true   D) I, III only true 

ÄöBVªkuçÅ ¼>ìÍØ>|. 

I. Ø\VÝ> \]©A íâ¦_ ( GVA)  =  GDP + \VMBD - köï^ 

II. ÖÍ]B© ØÃVòáV>V«Ý]_ skÄVBÝmçÅl[ Ãºï¹©A céï Ä«VÄö 6.4% s¦ ¶]ï\Vï c^ám. 

III. GDP ¨[Ãm Îò z¤©¸â¦ ïVéÝ]_ Îò åVâ½_ cuÃÝ] ØÄFB©Ãâ¦ ¶çªÝm Ö®]© 

Ãõ¦ ÃèïÓÂz ¼\uØïV^ÓD ØÄé¡ï¹[ íâ|ÝØ>Vçï kò\Vª xçÅ ¨ª©Ã|D. 

A) ¶çªÝmD Äö B) I, II \â|D Äö  C)  II, III \â|D Äö   D)  I, III \â|D Äö   

4. For the first time who had ascertained the Per Capital Income in his book? 

A) Adam Smith   B) Carol Marx’s  C) J M Kens   D) Navroji 

x>[x>éVï >[Ðç¦B ±o_ >MåÃì kò\VªÝç>© Ãu¤ z¤©¸â¦kì BVì? 

A) g¦D ütÝ  B) ï«V_ \Vìïü  C) J M ÿ[ü   D) Øåá¼«V÷   

5. Choose the not matched one among the indices that should be calculated during HDI 

A) Life Expectancy  B) Education   C) Health   D) GDP 

HDI ïðÂþ¦©Ã|k]_ c^á z¤X|ï¹_ ØÃVòÍ>V>ç>Ý ¼>ìï. 

A) kVµåV^ ¨]ìÃVì©A B) ï_s    C) ·ïV>V«D      D) GDP  

6. GNP is equal to 

A) NNP adjusted for inflation    B) GDP adjusted for inflation  

C) GDP plus net property income from abroad   

D) NNP plus net property income or abroad 

GNP -[ Ä\D ¨[Ãm---------------------? 

A) ÃðTÂïÝ]uïVï ÄöØÄFB©Ãâ¦ NNP B) ÃðTÂïÝ]uïVï ÄöØÄFB©Ãâ¦  GDP    

C) GDP  (\) Øk¹åVâ½_ ~â¦©Ãâ¦ Wï« ØÄVÝm kò\VªD     

D) NNP (\) Øk¹åVâ½_ ~â¦©Ãâ¦ Wï« ØÄVÝm kò\VªD    

7. Who said Public finance is an investigation into the nature and principles of the state revenue and  

expenditure? 

A) Dalton    B) Adam Smith  C) Carol Marks   D) Keats  

¶«E[ kòkVF (\) ØÄé¡ï¹[ ÖB_çÃ¥D ØïV^çïïçá¥D g«VFk¼> ØÃVm W]lB_ - 

ÖÂíu® BVòç¦Bm? 

A) ¦V_¦[  B) g¦D ütÝ C) ïV«_ \VìÂü    D) ÿ[ü   

8. Who is the chairman of 16
th

 finance commission 

A) NK Singh   B) KC Bandh   C) Arvind Panagariya  D) JM Salt 

16 km W] gçðBÝ][ >çékì BVì? 

A)  NK Eº  B)  KC ÃÍÝ   C) ¶«sÍÝ ÃªïVöBV D)  JM ÄV_â   

9. Match       

a. Electricity/Gas and Water - 1. National Income / Population 

b. Price policy    - 2. Gross Domestic Product  

c. GST     - 3. Industry Sector 

d. Per capita income   - 4. Agriculture 

e. C + I + G + (X-M)   - 5. Tax on goods and service 
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ØÃVòÝmï.       a b c  d e 

a. t[ÄV«D / ¨ökV¥/Àì  - 1. 
å�â| �ò\�ª


\Âï^ Ø��çï
  A)  4      3    1     5    2 

b. sçéÂØïV^çï  - 2. GDP   B)  3     4    5 1      2 

c. GST                                - 3. Ø>Va_mçÅ    C) 3    4     1    5 2 

d. >éV kò\VªD   - 4. ¼káVõç\  D) 5    1     4     3  2 

e.  C + I + G + (X-M)  - 5. Ãõ¦ºï^ (\) Ãèï^ 

10. The word fiscal which means public finance was derived from which language? 

A) Latin    B) Arab   C) Sanskrit    D) Greek. 

¶«E[ çÃ ( ØÃVmW]) ¨ª© ØÃVò^Ã|D à¸üï_ ¨[Ãm ¨DØ\VaßØÄV_? 

A) ÖéÝy[  B) ¶«A   C) Ä\üþò>D    D) þ¼«ÂïD   

11. Analyse the statement (Finance Commission) 

1.  Finance Commission is a quasi-judicial body set up under Article 280 of the Indian Constitution. 

2. It reduces the fiscal imbalances between central and state government 

3. It is a permanent body 

4. The 15
th

 finance commission recommendation was implemented on April 01, 2020 

A) I, II, IV true   B) I, II true   C) all are true   D)  II, IV true 

íu®ïçá g«VFï. ( W]Âz¿) 

1 .¶«Äç\©A ¸ö¡ 280-[ Ã½ W]Âz¿ Äâ¦©¯ìk\uÅ ¶ç\©ÃVzD 

2. \Ý]B - \VWé ¶«·ïÓÂþç¦¼BBVª Ä\t[ç\çBÂ zçÅÂþÅm. 

3. Öm Îò W«Í>« ¶ç\©ÃVzD 

4.  15 km W]Âz¿s[ ÃöÍmç«ï^ °©«_ 01,2020 -D gõ| x>_ åç¦xçÅ©Ã|Ý>©Ãâ¦m. 

A) I, II, IV Äö  B) I , II Äö  C) ¶çªÝmD Äö   D) II,  IV Äö  

12. Which article states about the function of finance commission? 

A) 280    B) 280 (5)     C) 280 (3)  D) 280 (2) 
W]Âz¿s[ Ãèï^ Ãu¤ z¤©¸|D «Ým ¨m? 

A) 280    B) 280 ( 5)    C) 280 (3)    D) 280 (2) 

13. Find the Incorrect one ? 

I) Central government tax distribution – 54% 

II) State government tax distribution – 42% 

III) GST state government tax distribution – 50% 

A) All true      B) I, II only true   

C) II, III only true     D) all false 

ÄöBuÅç> ¼>ìÍØ>|. 

1. \Ý]B ¶«E[ köÃºÿ|    - 58% 

2. \VWé ¶«· Ãºÿ|     - 42 % 

3. GST -[ Ã½ \VWé ¶«Euz köÃºÿ|  - 50% 

A) ¶çªÝmD Äö B) I, II \â|\ Äö  C)  II, III \â|D Äö  D) ¶çªÝmD >k®   

14. Who defined a tax as “a compulsory contribution from a person to the government to defray the expenses 

incurred in the common interest of all, without reference to special benefits conferred”. 

A) James Wilson   B) Simon Kuznets  C) Adam Smith  D) Seligman 

kö ¨[Ãm Îò z½\ï[ ¶«·Âz ïâ¦VB\Vï ØÄKÝmD ØÄKÝmçïBVzD ÖÂíu® BVòç¦Bm? 

A) ¼ÛDü s_Ä[ B) çÄ\[ züåâ  C)g¦D ütÝ    D) ØÄoÂØ\[ 


